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x-cantillationLevel=”1” strong=”c/2763|������������/�� a” x-morph=”OSHM:HC/Vhw3mp”
”strong=”853|��/������ x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”0.1”
”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”8034” x-morph=”OSHM:HNcmsc”�����/���|strong=”d/5892
b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0” ”strong=”2767|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 18 ”strong=”c/3920|����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3063|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”5804”
x-morph=”OSHM:HNp” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/����������|strong=”1366”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1.1” ”strong=”c/853|����/��
x-morph=”OSHM:HC/To”�������������|strong=”831” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/����������|strong=”1366”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”����������|strong=”6138” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/����������|strong=”1366”
x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0”� 19 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”854|���� x-morph=”OSHM:HR”����������|strong=”3063”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” 1 We read the punctua-
tion in L differently from BHQ. 2 3 ”strong=”c/3423|��������/�� x-
morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����/���|strong=”d/2022” x-morph=”OSHM:HTd/Ncmsa”

1P
2n Marks an anomalous form.
3p We read punctuation in L differently from BHS.
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x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”l/3423|���������/�� x-morph=”OSHM:HR/Vhc”
x-cantillationLevel=”0.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”3427”
x-morph=”OSHM:HVqrmpc” ”strong=”d/6010|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” strong=”3588|���� a” x-morph=”OSHM:HC”�������|strong=”7393”
x-morph=”OSHM:HNcmsc” ”strong=”1270|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 20 ”strong=”c/5414|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”l/3612|������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”2275 a”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” strong=”k/834|�������/����
d” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”1.0” ”strong=”1696|��������
x-morph=”OSHM:HVpp3ms” ”strong=”4872|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3423|���������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”m/8033|������/�� x-morph=”OSHM:HR/D” x-cantillationLevel=”0.1”
”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”7969”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”d/6061|������/�� x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”0”� 21 ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���������/���|strong=”d/2983”
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1.0” ”strong=”3427|�������
x-morph=”OSHM:HVqrmsa” ”strong=”3389|�������������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3423|�����������
x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”1144|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3427|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/2983|���������/�� x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.1.0.0”
”strong=”854|��� x-morph=”OSHM:HR”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
”strong=”1144|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”b/3389|�������������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1”
”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0”� � 22 ”strong=”c/5927|���������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”1004|���� b” x-morph=”OSHM:HNcmsc”��������|strong=”3130”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”1571|���� x-
morph=”OSHM:HTa”�����|strong=”1992” x-morph=”OSHM:HPp3mp” x-
cantillationLevel=”1.0” ”+strong=”1008|������ x-morph=”OSHM:HNp”�����|strong=”1008”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3068|������/���
x-morph=”OSHM:HC/Np” x-cantillationLevel=”0.0” strong=”5973|�/������
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� 23 ”strong=”c/8446|����������/��
x-morph=”OSHM:HC/Vhw3mp” strong=”1004|���� b” x-morph=”OSHM:HNcmsc”��������|strong=”3130”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”+strong=”b/1008|�����/���
x-morph=”OSHM:HR/Np”�����|strong=”1008” x-morph=”OSHM:HNp” x-
cantillationLevel=”1” ”strong=”c/8034|����/�� x-morph=”OSHM:HC/Ncmsc”�����/���|strong=”d/5892
b” x-morph=”OSHM:HTd/Ncfsa” ”strong=”l/6440|�������/�� x-morph=”OSHM:HR/Ncbpa”
x-cantillationLevel=”0.0” ”strong=”3870|����� x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 24 ”strong=”c/7200|���������/�� x-morph=”OSHM:HC/Vqw3mp”
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x-cantillationLevel=”1.1.0” ”strong=”d/8104|������������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”1.1” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.0” ”strong=”3318|������� x-morph=”OSHM:HVqrmsa”
strong=”4480|��� a” x-morph=”OSHM:HR”�����/���|strong=”d/5892
b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”7200|���/������� x-morph=”OSHM:HVhv2ms/Sp1cp”
”strong=”4994|���� x-morph=”OSHM:HTe” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3996” x-morph=”OSHM:HNcmsc”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1”
strong=”c/6213|����������/�� a” x-morph=”OSHM:HC/Vqq1cp” strong=”5973|���/�����
a” x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.0” strong=”2617|������
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 25 ”strong=”c/7200|��/�������/��
x-morph=”OSHM:HC/Vhw3ms/Sp3mp” x-cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3996” x-morph=”OSHM:HNcmsc”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1”
”strong=”c/5221|��������/�� x-morph=”OSHM:HC/Vhw3mp” ”strong=”853|���
x-morph=”OSHM:HTo”�����/���|strong=”d/5892 b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.0” ”strong=”l/6310|���/�� x-morph=”OSHM:HR/Ncmsc”�������|strong=”2719”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”������/���|strong=”d/376” x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”��/��������������|strong=”4940” x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”7971|���������� x-morph=”OSHM:HVpp3cp”
x-cantillationLevel=”0”� 26 ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1”
”strong=”776|������ x-morph=”OSHM:HNcbsc” x-cantillationLevel=”1.0”
”strong=”d/2850|��������/�� x-morph=”OSHM:HTd/Ngmpa” x-cantillationLevel=”1”
”strong=”c/1129|�������/�� x-morph=”OSHM:HC/Vqw3ms” strong=”5892|�����
b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.2.1” ”strong=”c/7121|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8034|���/����� x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”0.2.0” ”strong=”3870|����� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
”strong=”8034|��/������ x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0.1”
”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0”� � 27 ”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”����������|strong=”3423”
x-morph=”OSHM:HVhp3ms” ”strong=”4519|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” ”strong=”853|��� x-morph=”OSHM:HTo”������|strong=”1052+”
x-morph=”OSHM:HNp”��������|strong=”1052” x-morph=”OSHM:HNp”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���/����������|strong=”1323”
x-morph=”OSHM:HNcfpc/Sp3fs” x-cantillationLevel=”1.2.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����������|strong=”8590” x-morph=”OSHM:HNp”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���/���������|strong=”1323”
x-morph=”OSHM:HNcfpc/Sp3fs” x-cantillationLevel=”1.2” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”����|strong=”3427” x-morph=”OSHM:HVqrmsc”



CONTENTS 11

x-wType=”x-ketiv” 4 ”strong=”1756|����� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/�����������|strong=”1323”
x-morph=”OSHM:HNcfpc/Sp3fs” x-cantillationLevel=”1.1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����������|strong=”3427” x-morph=”OSHM:HVqrmpc”
”strong=”2991|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/����������|strong=”1323”
x-morph=”OSHM:HNcfpc/Sp3fs” x-cantillationLevel=”1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����������|strong=”3427” x-morph=”OSHM:HVqrmpc”
”strong=”4023|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/�����������|strong=”1323”
x-morph=”OSHM:HNcfpc/Sp3fs” x-cantillationLevel=”1” ”strong=”c/2974|���������/��
x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0.1.0” strong=”d/3669|�����������/���
a” x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.1” ”strong=”l/3427|�������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.0” ”strong=”b/776|������/���
x-morph=”OSHM:HRd/Ncbsa” ”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs”
x-cantillationLevel=”0”� 28 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” strong=”3588|����� a” x-morph=”OSHM:HC”�������|strong=”2388”
x-morph=”OSHM:HVqp3ms” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”c/7760|��������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�����������/����|strong=”d/3669
a” x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.0” ”strong=”l/4522|����/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1” ”strong=”c/3423|���������/��
x-morph=”OSHM:HC/Vha” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3423|��/��������� x-morph=”OSHM:HVhp3ms/Sp3ms”
x-cantillationLevel=”0”� � 29 ”strong=”c/669|�����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3423|���������
x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”1.1” ”strong=”853|��� x-
morph=”OSHM:HTo”�����������/����|strong=”d/3669 a” x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”1.0” ”strong=”d/3427|���������/�� x-morph=”OSHM:HTd/Vqrmsa”
”strong=”b/1507|������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”c/3427|��������/�� x-morph=”OSHM:HC/Vqw3ms” strong=”d/3669|�����������/���
a” x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.0.0” ”strong=”b/7130|��/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”b/1507|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� � 30 ”strong=”2074|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”3423|��������� x-morph=”OSHM:HVhp3ms”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”3427”
x-morph=”OSHM:HVqrmpc” ”strong=”7003|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����������|strong=”3427”
x-morph=”OSHM:HVqrmpc” x-cantillationLevel=”1.0” ”strong=”5096|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vqw3ms” strong=”d/3669|�����������/��� a” x-
morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0.1.0” ”strong=”b/7130|��/�������/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/1961|����������/��
4+ ”strong=”3427|������������ x-morph=”OSHM:HVqrmpc”
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x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0” ”strong=”l/4522|����/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”� � 31 ”strong=”836|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”3423|��������� x-morph=”OSHM:HVhp3ms”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”3427”
x-morph=”OSHM:HVqrmpc” ”strong=”5910|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����������|strong=”3427”
x-morph=”OSHM:HVqrmpc” x-cantillationLevel=”1.0” ”strong=”6721|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/853|���/�� x-
morph=”OSHM:HC/To”���������|strong=”303” x-morph=”OSHM:HNp”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”����������|strong=”392”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”����������|strong=”2462” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������|strong=”663”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�������|strong=”7340” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 32 ”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”d/843|����������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”1.1” ”strong=”b/7130|������/��� x-morph=”OSHM:HR/Ncmsc”
strong=”d/3669|�����������/��� a” x-morph=”OSHM:HTd/Ngmsa” x-
cantillationLevel=”1.0” ”strong=”3427|��������� x-morph=”OSHM:HVqrmpc”
”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” x-cantillationLevel=”0.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3423|��/��������� x-morph=”OSHM:HVhp3ms/Sp3ms”
x-cantillationLevel=”0”� � 33 ”strong=”5321|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1” ”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”3423”
x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”1.2.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”3427” x-morph=”OSHM:HVqrmpc”
”+strong=”1053|����� x-morph=”OSHM:HNp”����������|strong=”1053”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”����������|strong=”3427” x-morph=”OSHM:HVqrmpc”
”+strong=”1043|���� x-morph=”OSHM:HNp”�������|strong=”1043” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”c/3427|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1” ”strong=”b/7130|������/���
x-morph=”OSHM:HR/Ncmsc” strong=”d/3669|�����������/��� a” x-
morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.0” ”strong=”3427|���������
x-morph=”OSHM:HVqrmpc” ”strong=”d/776|������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1” ”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vqrmpc”
”+strong=”1053|����� x-morph=”OSHM:HNp”����������|strong=”1053”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”+strong=”c/1043|�����/��
x-morph=”OSHM:HC/Np” ”strong=”1043|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”1961|������ x-morph=”OSHM:HVqp3cp”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0”
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� 34 ”strong=”c/3905|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”d/567|��������/�� x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.0.0”
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”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”1121 a” x-morph=”OSHM:HNcmpc”�����|strong=”1835”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”d/2022|�/�����/��
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x-cantillationLevel=”0”� 35 ”strong=”c/2974|��������/�� x-morph=”OSHM:HC/Vhw3ms”
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x-cantillationLevel=”1.1” ”strong=”b/357|����������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”c/b/8169|�������������/��/�� x-
morph=”OSHM:HC/R/Np” x-cantillationLevel=”1” ”strong=”c/3513|����������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.1.0” ”strong=”3027|����
x-morph=”OSHM:HNcbsc” strong=”1004|����� b” x-morph=”OSHM:HNcmsc”��������|strong=”3130”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0” ”strong=”l/4522|����/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”� 36 ”strong=”c/1366|�������/��
x-morph=”OSHM:HC/Ncmsc” x-cantillationLevel=”1.1.0” ”strong=”d/567|��������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1” ”+strong=”m/4610|���������/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.0” ”strong=”4610|������������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”m/d/5553|�������/��/��
x-morph=”OSHM:HR/Td/Np” x-cantillationLevel=”0.0” ”strong=”c/4605|�/�������/��
x-morph=”OSHM:HC/D/Sd” x-cantillationLevel=”0”� �2 ”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”4397|��������

x-morph=”OSHM:HNcmsc”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” strong=”4480|��� a” x-morph=”OSHM:HR”����������/���|strong=”d/1537”

x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.0” ”strong=”413|��� x-
morph=”OSHM:HR”��������/���|strong=”d/1066” x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”1” � ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”5927|�������� x-morph=”OSHM:HVhi1cs” ”strong=”853|����/����
x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.2.3.0” ”strong=”m/4714|�����������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.2.3” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vhw1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”0.2.2” ”strong=”413|��� x-morph=”OSHM:HR”������/���|strong=”d/776”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.2.1” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”7650|���������������� x-morph=”OSHM:HVNp1cs”
x-cantillationLevel=”0.2.0” ”strong=”l/1|����/��������/�� x-morph=”OSHM:HR/Ncmpc/Sp2mp”
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x-cantillationLevel=”0.0.0” ”strong=”854|����/����� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”0.0” ”strong=”l/5769|�������/�� x-morph=”OSHM:HR/Ncmsa”
x-cantillationLevel=”0”� 2 strong=”c/859|�������/�� d” x-morph=”OSHM:HC/Pp2mp”
x-cantillationLevel=”1.1.2” ”strong=”3808|���� x-morph=”OSHM:HTn”�����������|strong=”3772”
x-morph=”OSHM:HVqi2mp” ”strong=”1285|������� x-morph=”OSHM:HNcfsa”
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x-cantillationLevel=”1.0” ”strong=”5422|�/���������� x-morph=”OSHM:HVqi2mp/Sn”
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x-cantillationLevel=”0”� 3 ”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta”
”strong=”559|����������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.1”
”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”1644”
x-morph=”OSHM:HVpi1cs” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”m/6440|����/������/�� x-morph=”OSHM:HR/Ncbpc/Sp2mp”
x-cantillationLevel=”1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3cp”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.2.0”
”strong=”l/6654|��������/�� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”0.2”
”strong=”c/430|����/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”1961|�������� x-morph=”OSHM:HVqi3mp”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0”
”strong=”l/4170|��������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0”�
4 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1”
”strong=”k/1696|�������/��� x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”1.1.0.0”
”strong=”4397|��������� x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/1697”
x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1.1” ”strong=”413|���� x-morph=”OSHM:HR”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
x-cantillationLevel=”1.0” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/5375|����������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/�������|strong=”6963 a” x-
morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”c/1058|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0”� 5 ”strong=”c/7121|�����������/���
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0.0” ”strong=”8034|�����
x-morph=”OSHM:HNcmsc”��������/���|strong=”d/4725” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.0”
”strong=”1066|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/2076|�����������/�� x-morph=”OSHM:HC/Vqw3mp”������|strong=”8033”
x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� � 6 ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vpw3ms” ”strong=”3091|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/3212|���������/��
x-morph=”OSHM:HC/Vqw3mp” strong=”1121|������ a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”376|������
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x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”3605|����� x-
morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0” ”strong=”3117|������
x-morph=”OSHM:HNcmpc” ”strong=”3091|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3605|����/�� x-morph=”OSHM:HC/Ncmsc”
x-cantillationLevel=”0.2.1.0” � ”strong=”3117|������ x-morph=”OSHM:HNcmpc”
”strong=”d/2205|����������/�� x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”0.2.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”748|�����������
x-morph=”OSHM:HVhp3cp” ”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.2.0” strong=”310|�������� a” x-morph=”OSHM:HR”
”strong=”3091|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”7200|������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1.1” ”strong=”853|����
x-morph=”OSHM:HTo” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������|strong=”4639”
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” strong=”d/1419|��������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”l/3478|�����������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
8 ”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0”
”strong=”3091|����������� x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”������|strong=”5126” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”5650|������ x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”1121|���� a” x-morph=”OSHM:HNcmsc”�������|strong=”3967”
x-morph=”OSHM:HAcbsa” ”strong=”c/6235|�������/�� x-morph=”OSHM:HC/Acfsa”
x-cantillationLevel=”0.0” ”strong=”8141|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0”� 9 ”strong=”c/6912|������������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”853|���/���� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”b/1366|�������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”5159|��/��������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1” strong=”b/8556|�������/���
a” x-morph=”OSHM:HR/Np”�������|strong=”8556 a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”669|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”m/6828|��������/�� x-morph=”OSHM:HR/Ncfsc” x-cantillationLevel=”0.0”
”strong=”l/2022|���/�� x-morph=”OSHM:HR/Ncmsc”���������|strong=”1608”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 10 ”strong=”c/1571|����/��
x-morph=”OSHM:HC/Ta” x-cantillationLevel=”1.1.0” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”������/���|strong=”d/1755” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”1.1”
”strong=”622|���������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.0”
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a” x-morph=”OSHM:HTr” ”strong=”3808|��� x-morph=”OSHM:HTn”����������|strong=”3045”
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x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2” ”strong=”c/1571|����/�� x-morph=”OSHM:HC/Ta”
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strong=”1121|������ a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”����/���|strong=”d/7451
a” x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.0” strong=”b/5869|�������/���
a” x-morph=”OSHM:HR/Ncbdc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/5647|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������/���|strong=”d/1168
a” x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0”� 12 strong=”c/5800|�����������/��
a” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.2.1.1” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
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”strong=”1|�/�������� x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1.2.1”
”strong=”d/3318|���������/�� x-morph=”OSHM:HTd/Vhrmsa” ”strong=”853|��/�����
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1.2.0” ”strong=”m/776|������/��
x-morph=”OSHM:HR/Ncbsc” ”strong=”4714|���������� x-morph=”OSHM:HNp”
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”strong=”312|��������� x-morph=”OSHM:HAampa” x-cantillationLevel=”1.1.2”
”strong=”m/430|��������/�� x-morph=”OSHM:HR/Ncmpc” strong=”d/5971|��������/���
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.1.0” ”strong=”5439|����/������������
x-morph=”OSHM:HNcbpc/Sp3mp” x-cantillationLevel=”1.1” ”strong=”c/7812|����������������/��
x-morph=”OSHM:HC/Vtw3mp” x-cantillationLevel=”1.0” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1” ”strong=”c/3707|�����������/��
x-morph=”OSHM:HC/Vhw3mp” x-cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 5 We read one or more accents in L differently from
BHQ. 6 13 strong=”c/5800|�����������/�� a” x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”3068”
5C
6c We read one or more accents in L differently than BHS. Often this notation indicates a typo-

graphical error in BHS.
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x-morph=”OSHM:HVqp3cp” ”strong=”5750|����� x-morph=”OSHM:HD”
x-cantillationLevel=”0.1” ”strong=”l/5975|������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.0” ”strong=”l/6440|������/�� x-morph=”OSHM:HR/Ncbpc”
”strong=”341|����/�������� x-morph=”OSHM:HVqrmpc/Sp3mp” x-cantillationLevel=”0”�
15 ”strong=”b/3605|����/��� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2.1.0”
� strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3318|��������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.2.1” ”strong=”3027|���
x-morph=”OSHM:HNcbsc”��������|strong=”3068” x-morph=”OSHM:HNp”
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”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”c/k/834|�������/��/�� d” x-morph=”OSHM:HC/R/Tr” x-cantillationLevel=”1.0.0”
”strong=”7650|���������� x-morph=”OSHM:HVNp3ms” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”l|����/�� x-
morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1” ”strong=”c/3334|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.0” ”strong=”3966|������ x-morph=”OSHM:HD” x-
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”strong=”c/3467|�/�������������/�� x-morph=”OSHM:HC/Vhw3mp/Sp3mp”
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” strong=”5973|��� a” x-
morph=”OSHM:HR”��������/���|strong=”d/8199” x-morph=”OSHM:HTd/Vqrmsa”
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”strong=”341|����/�������� x-morph=”OSHM:HVqrmpc/Sp3mp” x-cantillationLevel=”1.1”
”strong=”3605|����� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0”
”strong=”3117|������ x-morph=”OSHM:HNcmpc” ”strong=”d/8199|���������/��
x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”����������|strong=”5162” x-morph=”OSHM:HVNi3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
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x-cantillationLevel=”0”� 19 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”1.2.1.0” � ”strong=”b/4191|�����/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/8199|���������/�� x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.2.1”
”strong=”7725|���������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.2.0”
”strong=”c/7843|������������/�� x-morph=”OSHM:HC/Vhq3cp” ”strong=”m/1|�/��������/���
x-morph=”OSHM:HR/Ncmpc/Sp3mp” x-cantillationLevel=”1.2” ”strong=”l/3212|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1.1” strong=”310|���������
a” x-morph=”OSHM:HR” x-cantillationLevel=”1.1.0” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” ”strong=”312|��������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.1” ”strong=”l/5647|�/�������/�� x-morph=”OSHM:HR/Vqc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”c/l/7812|��������������/��/�� x-
morph=”OSHM:HC/R/Vvc” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
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x-cantillationLevel=”1” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”5307|�����������
x-morph=”OSHM:HVhp3cp” x-cantillationLevel=”0.1.0” ”strong=”m/4611|����/�����������/��
x-morph=”OSHM:HR/Ncmpc/Sp3mp” x-cantillationLevel=”0.1” ”strong=”c/m/1870|�/���������/��/��
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”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1.2”
”strong=”3282|������ x-morph=”OSHM:HC” strong=”834|������� a”
x-morph=”OSHM:HTr” strong=”5674|�������� a” x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.1.1.0” strong=”d/1471|������/�� a” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0.1.1”
”strong=”853|��� x-morph=”OSHM:HTo”��/���������|strong=”1285”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”6680|���������� x-morph=”OSHM:HVpp1cs”
”strong=”853|��� x-morph=”OSHM:HTo”�/���������|strong=”1” x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
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cantillationLevel=”0”� 21 ”strong=”1571|���� x-morph=”OSHM:HTa”�������|strong=”589”
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.1.0” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”3254|�������� x-morph=”OSHM:HVhi1cs”
x-cantillationLevel=”1.1” ”strong=”l/3423|���������/�� x-morph=”OSHM:HR/Vhc”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
”strong=”m/6440|����/������/�� x-morph=”OSHM:HR/Ncbpc/Sp3mp”
x-cantillationLevel=”1” strong=”4480|��� a” x-morph=”OSHM:HR”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”�������|strong=”5800 a” x-morph=”OSHM:HVqp3ms”
”strong=”3091|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0”�
22 ”strong=”4616|�������� x-morph=”OSHM:HR” x-cantillationLevel=”1.0.0”
”strong=”5254|�������� x-morph=”OSHM:HVpc” ”strong=”b|�/���� x-
morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0” ”strong=”853|��� x-
morph=”OSHM:HTo”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”i/8104|����������/�� x-morph=”OSHM:HTi/Vqrmpa”
”strong=”1992|���� x-morph=”OSHM:HPp3mp” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”1870”
x-morph=”OSHM:HNcbsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.1.0” ”strong=”l/3212|������/�� x-morph=”OSHM:HR/Vqc”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.0.1”
strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr” x-cantillationLevel=”0.0.0”
”strong=”8104|��������� x-morph=”OSHM:HVqp3cp” ”strong=”1|�/��������
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0.0” strong=”518|���
a” x-morph=”OSHM:HC”�����|strong=”3808” x-morph=”OSHM:HTn” x-
cantillationLevel=”0”� 23 ”strong=”c/3240|��������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
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”strong=”853|��� x-morph=”OSHM:HTo”��������/���|strong=”d/1471
a” x-morph=”OSHM:HTd/Ncmpa” ”strong=”d/428|�������/�� x-morph=”OSHM:HTd/Pdxcp”
x-cantillationLevel=”1.1” ”strong=”l/1115|���������/�� x-morph=”OSHM:HR/C”
”strong=”3423|�/���������� x-morph=”OSHM:HVhc/Sp3mp” x-cantillationLevel=”1.0”
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x-morph=”OSHM:HVqp3ms/Sp3mp” x-cantillationLevel=”0.0” ”strong=”b/3027|���/���
x-morph=”OSHM:HR/Ncbsc”������������|strong=”3091” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� �3 ”strong=”c/428|�������/�� x-morph=”OSHM:HC/Pdxcp” strong=”d/1471|��������/��

a” x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”3240|��������� x-morph=”OSHM:HVhp3ms”

”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”l/5254|��������/�� x-morph=”OSHM:HR/Vpc” ”strong=”b|�/����
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”834
a” x-morph=”OSHM:HTr” ”strong=”3808|���� x-morph=”OSHM:HTn”���������|strong=”3045”
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.1” ”strong=”853|����
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x-morph=”OSHM:HNcfpc” strong=”3667|��������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 2 ”strong=”7535|���� x-morph=”OSHM:HTa” x-
cantillationLevel=”1.1.2” ”strong=”4616|��������� x-morph=”OSHM:HR”
x-cantillationLevel=”1.1.1” ”strong=”1847|������� x-morph=”OSHM:HVqc”
x-cantillationLevel=”1.1.0” ”strong=”1755|�������� x-morph=”OSHM:HNcmpc”
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x-cantillationLevel=”0”� 3 ”strong=”2568|��������� x-morph=”OSHM:HAcmsc”
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cantillationLevel=”0”� 4 ”strong=”c/1961|���������/��� x-morph=”OSHM:HC/Vqw3mp”
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x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”l/3045|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.1” ”strong=”i/8085|�����������/��
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x-morph=”OSHM:HC/Vqw3mp” ”strong=”853|��� x-morph=”OSHM:HTo”����/����������|strong=”1323”
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a” x-morph=”OSHM:HC” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”8025|�������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0.0” ”strong=”d/2719|������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0” ”strong=”m/990|��/�������/��
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”1” ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0” ”strong=”d/6574|�/�������������/���
x-morph=”OSHM:HTd/Ncmsa/Sd” x-cantillationLevel=”0”� 23 ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”164|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”d/4528|�/��������������/��� x-
morph=”OSHM:HTd/Ncmsa/Sd” x-cantillationLevel=”1” ”strong=”c/5462|����������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0.0.0” strong=”1817|����������
c” x-morph=”OSHM:HNcfpc” ”strong=”d/5944|���������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0.0.0” ”strong=”1157|��/������� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.0” strong=”c/5274|������/�� a” x-morph=”OSHM:HC/Vqp3ms”
x-cantillationLevel=”0”� 24 ”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms”
”strong=”3318|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2.0”
”strong=”c/5650|�/��������/�� x-morph=”OSHM:HC/Ncmpc/Sp3ms” ”strong=”935|�������
x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.2” ”strong=”c/7200|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” x-cantillationLevel=”1.0.0” strong=”1817|����������
c” x-morph=”OSHM:HNcfpc” ”strong=”d/5944|���������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.0” strong=”5274|��������� a” x-morph=”OSHM:HVqsfpa”
x-cantillationLevel=”1” ”strong=”c/559|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.1” ”strong=”389|����� x-morph=”OSHM:HTa” strong=”5526|��������
b” x-morph=”OSHM:HVhrmsa” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/���������|strong=”7272”
x-morph=”OSHM:HNcfdc/Sp3ms” x-cantillationLevel=”0.0” ”strong=”b/2315|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/4747|���������/�� x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� 25 strong=”c/2342|����������/�� a” x-morph=”OSHM:HC/Vqw3mp”
”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”954” x-morph=”OSHM:HVqc”
x-cantillationLevel=”1.1” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
x-cantillationLevel=”1.0.0” 7 Marks a place where we agree with BHQ against
BHS in reading L. 8 9 ”strong=”369|����/������ x-morph=”OSHM:HTn/Sp3ms”
strong=”6605|������� a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0”
strong=”1817|���������� c” x-morph=”OSHM:HNcfpc” ”strong=”d/5944|���������/���

7Q
8n Marks an anomalous form.
9v We read one or more vowels in L differently from BHS.
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x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” 10 11 ”strong=”c/3947|���������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”853|��� x-morph=”OSHM:HTo”������������/���|strong=”d/4668”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.0” strong=”c/6605|������������/��
a” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.2” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” x-cantillationLevel=”0.1.0” ”strong=”113|����/��������
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0.1” ”strong=”5307|������
x-morph=”OSHM:HVqrmsa” ”strong=”776|�/������� x-morph=”OSHM:HNcbsa/Sd”
x-cantillationLevel=”0.0” ”strong=”4191|���� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0”� 26 ”strong=”c/164|�������/�� x-morph=”OSHM:HC/Np”
”strong=”4422|�������� x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”1.0”
”strong=”5704|���� x-morph=”OSHM:HR” ”strong=”4102|�/��������������
x-morph=”OSHM:HVfc/Sp3mp” x-cantillationLevel=”1” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” x-cantillationLevel=”0.1.0” strong=”5674|������
a” x-morph=”OSHM:HVqp3ms” ”strong=”853|��� x-morph=”OSHM:HTo”�����������/���|strong=”d/6456”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”c/4422|����������/��
x-morph=”OSHM:HC/VNw3ms” x-cantillationLevel=”0.0” ”strong=”d/8167|�/������������/��
x-morph=”OSHM:HTd/Np/Sd” x-cantillationLevel=”0”� 27 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”b/935|��/�����/��� x-morph=”OSHM:HR/Vqc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/8628|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”b/7782|���������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/3381|���������/��
x-morph=”OSHM:HC/Vqw3mp” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3ms”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” strong=”4480|��� a” x-
morph=”OSHM:HR”����/���|strong=”d/2022” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms”
”strong=”l/6440|����/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp3mp” x-
cantillationLevel=”0”� 28 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|����/���� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1.0”
”strong=”7291|�������� x-morph=”OSHM:HVqv2mp” strong=”310|�/�������
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”5414” x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”853|��� x-morph=”OSHM:HTo”����/��������|strong=”341”
x-morph=”OSHM:HVqrmpc/Sp2mp” x-cantillationLevel=”1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”4124” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”b/3027|����/����/��� x-morph=”OSHM:HR/Ncbsc/Sp2mp”
x-cantillationLevel=”1” ”strong=”c/3381|���������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”310|�/�������� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.1”
”strong=”c/3920|������������/��� x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”0.1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������������|strong=”4569
b” x-morph=”OSHM:HNcfpc” ”strong=”d/3383|����������/�� x-morph=”OSHM:HTd/Np”

10Q Marks a place where we agree with BHQ against BHS in reading L.
11c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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x-cantillationLevel=”0.1.0” ”strong=”l/4124|�������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”���������|strong=”5414”
x-morph=”OSHM:HVqp3cp” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”l/5674|������/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 29 ”strong=”c/5221|��������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”4124” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1.0” ”strong=”b/6256|����/��� x-morph=”OSHM:HRd/Ncbsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs” x-cantillationLevel=”1.1.1”
”strong=”k/6235|���������/��� x-morph=”OSHM:HR/Acmsc” ”strong=”505|���������
x-morph=”OSHM:HAcbpa” x-cantillationLevel=”1.1.0” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”3605|����
x-morph=”OSHM:HNcmsc”��������|strong=”8082” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.0” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�������|strong=”376”
x-morph=”OSHM:HNcmsc” ”strong=”2428|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”4422|�������� x-morph=”OSHM:HVNp3ms” x-cantillationLevel=”0.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
30 ”strong=”c/3665|����������/�� x-morph=”OSHM:HC/VNw3fs” ”strong=”4124|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms”
x-cantillationLevel=”1.1” ”strong=”8478|������� x-morph=”OSHM:HR”
x-cantillationLevel=”1.0” ”strong=”3027|���� x-morph=”OSHM:HNcbsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/8252|����������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”d/776|������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”8084|�����������
x-morph=”OSHM:HAcbpa” ”strong=”8141|������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� � 31 strong=”c/310|�/��������/�� a” x-morph=”OSHM:HC/R/Sp3ms”
”strong=”1961|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.2.0”
”strong=”8044|���������� x-morph=”OSHM:HNp” strong=”1121|����
a” x-morph=”OSHM:HNcmsc”�������|strong=”6067” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”c/5221|������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”���������������|strong=”6430”
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.1.0” ”strong=”8337|������
x-morph=”OSHM:HAcfsa”��������|strong=”3967” x-morph=”OSHM:HAcbpa”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”b/4451|��������/��� x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”1.0”
”strong=”d/1241|�������/�� x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1”
”strong=”c/3467|��������/�� x-morph=”OSHM:HC/Vhw3ms” ”strong=”1571|����
x-morph=”OSHM:HTa”������|strong=”1931” x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� �4 ”strong=”c/3254|����������/�� x-morph=”OSHM:HC/Vhw3mp”

x-cantillationLevel=”1.1.0” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”

strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc” ”strong=”d/7451|����/��
x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.0” strong=”b/5869|�������/���
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a” x-morph=”OSHM:HR/Ncbdc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/164|�������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”0.0” ”strong=”4191|���� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”0”� 2 ”strong=”c/4376|�/�����������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”b/3027|����/��� x-morph=”OSHM:HR/Ncbsc” x-cantillationLevel=”1.1.0”
”strong=”2985|������� x-morph=”OSHM:HNp” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc”����������|strong=”3667 a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”4427|������� a” x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.0”
”strong=”b/2674|�������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”c/8269|����/�� x-morph=”OSHM:HC/Ncmsc”���/������|strong=”6635
a” x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”5516|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/1931|�����/��
x-morph=”OSHM:HC/Pp3ms” ”strong=”3427|�������� x-morph=”OSHM:HVqrmsa”
x-cantillationLevel=”0.0” ”strong=”b/2800|���������/��� x-morph=”OSHM:HR/Np”
strong=”1471|���������� a” x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
3 ”strong=”c/6817|�����������/�� x-morph=”OSHM:HC/Vqw3mp” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”3588|����� a” x-
morph=”OSHM:HC” x-cantillationLevel=”0.1.0.0” ”strong=”8672|��������
x-morph=”OSHM:HAcfsa” ”strong=”3967|������� x-morph=”OSHM:HAcbpa”
”strong=”7393|������ x-morph=”OSHM:HNcmsc”����������|strong=”1270”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0” ”strong=”l|��/�� x-
morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1” ”strong=”c/1931|����/���
x-morph=”OSHM:HC/Pp3ms” x-cantillationLevel=”0.0.0.1” ”strong=”3905|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
”strong=”b/2394|��������/��� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0.0”
”strong=”6242|���������� x-morph=”OSHM:HAcbpa” ”strong=”8141|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� � 4 ”strong=”c/1683|���������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.0” ”strong=”802|��������
x-morph=”OSHM:HNcfsa” ”strong=”5031|��������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”802|������� x-morph=”OSHM:HNcfsc”
x-cantillationLevel=”1.0” ”strong=”3941|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”1931|����� x-morph=”OSHM:HPp3fs” x-
cantillationLevel=”0.0.0” ”strong=”8199|��������� x-morph=”OSHM:HVqrfsa”
”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”b/6256|����/���
x-morph=”OSHM:HRd/Ncbsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs”
x-cantillationLevel=”0”� 5 ”strong=”c/1931|����/��� x-morph=”OSHM:HC/Pp3fs”
x-cantillationLevel=”1.0.1.1” ”strong=”3427|���������� x-morph=”OSHM:HVqrfsa”
”strong=”8478|������� x-morph=”OSHM:HR”��������|strong=”8560”
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0.1.0” ”strong=”1683|����������
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.1” ”strong=”996|������
x-morph=”OSHM:HR” ”strong=”d/7414|������/�� x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”1.0.0” ”strong=”c/996|�����/�� x-morph=”OSHM:HC/R”
”+strong=”1008|������ x-morph=”OSHM:HNp”�����|strong=”1008” x-
morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”b/2022|����/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”669|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/5927|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”l/4941|�����������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0”� 6 ”strong=”c/7971|����������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.1.1” ”strong=”c/7121|���������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.1.0” ”strong=”l/1301|������/��
x-morph=”OSHM:HR/Np” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������������|strong=”42”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”m/6943|��������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0” ”strong=”5321|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.2.1.1” ”strong=”i/3808|����/�� x-morph=”OSHM:HTi/Tn”
”strong=”6680|������� x-morph=”OSHM:HVpp3ms” x-cantillationLevel=”0.2.1.0”
� ”strong=”3068|������� x-morph=”OSHM:HNp” ”strong=”430|��������
x-morph=”OSHM:HNcmpc”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.1” ”strong=”3212|����� x-morph=”OSHM:HVqv2ms”
”strong=”c/4900|������������/�� x-morph=”OSHM:HC/Vqq2ms” x-cantillationLevel=”0.2.0”
”strong=”b/2022|����/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”8396|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” ”strong=”c/3947|����������/��
x-morph=”OSHM:HC/Vqq2ms” strong=”5973|���/����� a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.1.1” ”strong=”6235|��������� x-morph=”OSHM:HAcmsc”
”strong=”505|��������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”0.1.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1”
strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc” ”strong=”5321|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” strong=”c/m/1121|�������/��/��
a” x-morph=”OSHM:HC/R/Ncmpc” ”strong=”2074|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 7 ”strong=”c/4900|������������/�� x-morph=”OSHM:HC/Vqq1cs”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”1.1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”5158 a” x-morph=”OSHM:HNcmsc”
”strong=”7028|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1”
”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”5516”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”8269|���� x-
morph=”OSHM:HNcmsc”�������|strong=”6635 a” x-morph=”OSHM:HNcbsc”
”strong=”2985|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/��������|strong=”7393”
x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”��/��������|strong=”1995 a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/5414|���/���������/�� x-morph=”OSHM:HC/Vqq1cs/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b/3027|��/�����/��� x-morph=”OSHM:HR/Ncbsc/Sp2ms”
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x-cantillationLevel=”0”� 8 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|���/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1.0”
”strong=”1301|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”518|��� a” x-morph=”OSHM:HC”����������|strong=”3212”
x-morph=”OSHM:HVqi2fs” strong=”5973|�/������ a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”c/1980|�����������/�� x-morph=”OSHM:HC/Vqq1cs”
x-cantillationLevel=”1” strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�����|strong=”3808”
x-morph=”OSHM:HTn” ”strong=”3212|�������� x-morph=”OSHM:HVqi2fs”
x-cantillationLevel=”0.0.0” strong=”5973|�/������ a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3212|�������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0”� 9 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.2.3.0” ”strong=”1980|�������
x-morph=”OSHM:HVqa” ”strong=”3212|������� x-morph=”OSHM:HVqi1cs”
strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.2.3”
strong=”657|������ a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.2”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3808|���� x-morph=”OSHM:HTn”
”strong=”1961|��������� x-morph=”OSHM:HVqi3fs” x-cantillationLevel=”1.2.1.0”
”strong=”8597|���/������������� x-morph=”OSHM:HNcfsc/Sp2ms” x-
cantillationLevel=”1.2.1” strong=”5921|��� a” x-morph=”OSHM:HR”���������/���|strong=”d/1870”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.2.0” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
”strong=”1980|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.2”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”b/3027|���/���
x-morph=”OSHM:HR/Ncbsc”���������|strong=”802” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”4376|��������� x-morph=”OSHM:HVqi3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”5516”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”c/6965|�������/��
b” x-morph=”OSHM:HC/Vqw3fs” ”strong=”1683|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0.0” ”strong=”c/3212|�������/�� x-morph=”OSHM:HC/Vqw3fs”
12 Marks a place where we agree with BHQ against BHS in reading L. 13 14
strong=”5973|��� a” x-morph=”OSHM:HR”��������|strong=”1301” x-
morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”6943|�/��������
x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”0”� 10 ”strong=”c/2199|���������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”1301|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”2074”
x-morph=”OSHM:HNp” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”������������|strong=”5321”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”6943|�/��������
x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”1.2” ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”b/7272|�/��������/��� x-morph=”OSHM:HR/Ncfdc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”6235|��������� x-morph=”OSHM:HAcmsc”
”strong=”505|�������� x-morph=”OSHM:HAcbpc” x-cantillationLevel=”1.0”

12Q
13n Marks an anomalous form.
14v We read one or more vowels in L differently from BHS.
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”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1”
”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vqw3fs” strong=”5973|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0” ”strong=”1683|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 11 ”strong=”c/2268|������/��
x-morph=”OSHM:HC/Np” ”strong=”d/7017|��������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”1.1.0” ”strong=”6504|�������� x-morph=”OSHM:HVNrmsa”
”strong=”m/7017|�������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.1”
strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc” ”strong=”2246|������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”2859|������ a”
x-morph=”OSHM:HVqrmsc” ”strong=”4872|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/5186|�����/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”168|��/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.1”
”strong=”5704|��� x-morph=”OSHM:HR”��������|strong=”436” x-morph=”OSHM:HNcmsa”
”strong=”b/6815|�����/� x-morph=”OSHM:HR/Np” x-wType=”x-ketiv”
15 strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”854|��� x-
morph=”OSHM:HR”��������|strong=”6943” x-morph=”OSHM:HNp” x-
cantillationLevel=”0”� 12 ”strong=”c/5046|����������/�� x-morph=”OSHM:HC/Vhw3mp”
x-cantillationLevel=”1.0” ”strong=”l/5516|����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”5927|������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0.0” ”strong=”1301|�������
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”������������|strong=”42”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”2022|��� x-morph=”OSHM:HNcmsc”���������|strong=”8396”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 13 ”strong=”c/2199|���������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”5516|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”��/��������|strong=”7393” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1.1” ”strong=”8672|�������� x-morph=”OSHM:HAcfsa”
”strong=”3967|������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”1.1.0”
”strong=”7393|������ x-morph=”OSHM:HNcmsc” ”strong=”1270|���������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”�����|strong=”3605” x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971
a” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”854|��/����� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1” ”strong=”m/2800|���������/�� x-morph=”OSHM:HR/Np”
strong=”1471|���������� a” x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”5158 a” x-morph=”OSHM:HNcmsc”
”strong=”7028|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
14 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”1683|���������
x-morph=”OSHM:HNp” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”1301”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2.0” strong=”6965|�����
b” x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”1.1.2” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”2088|���� x-morph=”OSHM:HPdxms”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1”

15+ ”strong=”b/6815|������������/��������/� x-morph=”OSHM:HR/Np” x-
cantillationLevel=”0.0”
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strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”5414|������
x-morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”5516”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”b/3027|��/�����/���
x-morph=”OSHM:HR/Ncbsc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”i/3808|����/��
x-morph=”OSHM:HTi/Tn” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”3318|������ x-morph=”OSHM:HVqp3ms”
”strong=”l/6440|��/������/�� x-morph=”OSHM:HR/Ncbpc/Sp2ms” x-
cantillationLevel=”1” ”strong=”c/3381|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1301|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”m/2022|����/�� x-morph=”OSHM:HR/Ncmsc” ”strong=”8396|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/6235|���������/��
x-morph=”OSHM:HC/Acmsc” ”strong=”505|��������� x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”0.0.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” strong=”310|�/�������� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0”� 15 ”strong=”c/2000|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”5516”
x-morph=”OSHM:HNp” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”������/���|strong=”d/7393” x-morph=”OSHM:HTd/Ncmsa”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”���������/����|strong=”d/4264” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.0.0” ”strong=”l/6310|���/�� x-morph=”OSHM:HR/Ncmsc”�������|strong=”2719”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” ”strong=”l/6440|������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”1301|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/3381|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”5516|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0”
strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R” ”strong=”d/4818|������������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0” ”strong=”c/5127|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”b/7272|�/��������/��� x-morph=”OSHM:HR/Ncfdc/Sp3ms”
x-cantillationLevel=”0”� 16 ”strong=”c/1301|������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1.1” ”strong=”7291|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.1.0.0” strong=”310|�������� a” x-morph=”OSHM:HR”
”strong=”d/7393|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
strong=”c/310|��������/�� a” x-morph=”OSHM:HC/R” ”strong=”d/4264|���������/���
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1” ”strong=”5704|����
x-morph=”OSHM:HR” x-cantillationLevel=”1.0” ”strong=”2800|���������
x-morph=”OSHM:HNp” strong=”1471|���������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/5307|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”���������|strong=”4264”
x-morph=”OSHM:HNcbsc” ”strong=”5516|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”l/6310|���/�� x-morph=”OSHM:HR/Ncmsc”�������|strong=”2719”
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.1” ”strong=”3808|���� x-
morph=”OSHM:HTn” ”strong=”7604|��������� x-morph=”OSHM:HVNp3ms”
x-cantillationLevel=”0.0” ”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”259”
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0”� 17 ”strong=”c/5516|����������/��
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x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.2.0” ”strong=”5127|����
x-morph=”OSHM:HVqp3ms” ”strong=”b/7272|�/��������/��� x-morph=”OSHM:HR/Ncfdc/Sp3ms”
x-cantillationLevel=”1.2” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”168”
x-morph=”OSHM:HNcmsc” ”strong=”3278|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”802|�������� x-morph=”OSHM:HNcfsc”
x-cantillationLevel=”1.0” 16 Marks a place where we agree with BHQ against
BHS in reading L. 17 18 ”strong=”2268|������ x-morph=”OSHM:HNp”
”strong=”d/7017|��������/�� x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”7965|��������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.2.1” ”strong=”996|������
x-morph=”OSHM:HR” x-cantillationLevel=”0.2.0” ”strong=”2985|�������
x-morph=”OSHM:HNp” ”strong=”4428|������� x-morph=”OSHM:HNcmsc”��������|strong=”2674”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” ”strong=”c/996|�����/��
x-morph=”OSHM:HC/R” x-cantillationLevel=”0.1” strong=”1004|������
b” x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”2268|������
x-morph=”OSHM:HNp” ”strong=”d/7017|��������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0”� 18 ”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”3278|������ x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”l/7125|�������/�� x-morph=”OSHM:HR/Vqc” ”strong=”5516|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0.1” ”strong=”5493|�/������ x-morph=”OSHM:HVqv2ms/Sh”
”strong=”113|�/������� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.0.0”
”strong=”5493|�/������ x-morph=”OSHM:HVqv2ms/Sh” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0” ”strong=”408|��� x-
morph=”OSHM:HTn”���������|strong=”3372” x-morph=”OSHM:HVqj2ms”
x-cantillationLevel=”1” ”strong=”c/5493|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|���/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.1.0”
”strong=”d/168|�/�������/�� x-morph=”OSHM:HTd/Ncmsa/Sd” x-cantillationLevel=”0.1”
”strong=”c/3680|���/���������/�� x-morph=”OSHM:HC/Vpw3fs/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b/8063|�����������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0”� 19 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.0.0”
”strong=”8248|���/�������� x-morph=”OSHM:HVhv2fs/Sp1cs”�����|strong=”4994”
x-morph=”OSHM:HTe” ”strong=”4592|����� x-morph=”OSHM:HNcmsc”�������|strong=”4325”
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.0” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”6770|��������� x-morph=”OSHM:HVqp1cs”
x-cantillationLevel=”1” strong=”c/6605|����������/�� a” x-morph=”OSHM:HC/Vqw3fs”
x-cantillationLevel=”0.0.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”4997”
x-morph=”OSHM:HNcmsc” ”strong=”d/2461|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0.0” ”strong=”c/8248|���/���������/�� x-morph=”OSHM:HC/Vhw3fs/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”c/3680|���/���������/�� x-morph=”OSHM:HC/Vpw3fs/Sp3ms”

16Q
17n Marks an anomalous form.
18p We read punctuation in L differently from BHS.



CONTENTS 35

x-cantillationLevel=”0”� 20 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1”
”strong=”5975|������ x-morph=”OSHM:HVqv2ms” x-cantillationLevel=”1.0”
”strong=”6607|������� x-morph=”OSHM:HNcmsc” ”strong=”d/168|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” strong=”518|��� a” x-morph=”OSHM:HC”�������|strong=”376”
x-morph=”OSHM:HNcmsa” ”strong=”935|������� x-morph=”OSHM:HVqi3ms”
x-cantillationLevel=”0.0.1.0” ”strong=”c/7592|��/��������/�� x-morph=”OSHM:HC/Vqq3ms/Sp3fs”
x-cantillationLevel=”0.0.1” ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqq3ms”
x-cantillationLevel=”0.0.0” ”strong=”i/3426|�����/�� x-morph=”OSHM:HTi/Tm”������|strong=”6311”
x-morph=”OSHM:HD” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.0” ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqq2fs”
”strong=”369|������ x-morph=”OSHM:HTn” x-cantillationLevel=”0”� 21
”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”3278|������
x-morph=”OSHM:HNp” ”strong=”802|������� x-morph=”OSHM:HNcfsc”�������|strong=”2268”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1.1” ”strong=”853|��� x-
morph=”OSHM:HTo”�������|strong=”3489” x-morph=”OSHM:HNcfsc” ”strong=”d/168|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1.0” strong=”c/7760|��������/��
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x-morph=”OSHM:HC/Ncbsa” x-cantillationLevel=”0”� 5 strong=”3588|�����
a” x-morph=”OSHM:HC” x-cantillationLevel=”1.1.1.1” ”strong=”1992|����
x-morph=”OSHM:HPp3mp” ”strong=”c/4735|����/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
”strong=”5927|�������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”1.1.1.0”
”strong=”c/168|����/�������/�� x-morph=”OSHM:HC/Ncmpc/Sp3mp”
x-cantillationLevel=”1.1.1” ”strong=”935|���� x-morph=”OSHM:HVqi3mp”
x-wType=”x-ketiv” 19 ”strong=”k/1767|����/�� x-morph=”OSHM:HR/Ncmsc”����������|strong=”697”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1.0” ”strong=”l/7230|����/��
x-morph=”OSHM:HR/Ncbsa” x-cantillationLevel=”1.1” ”strong=”c/l|����/��/��
x-morph=”OSHM:HC/R/Sp3mp” ”strong=”c/l/1581|����/��������/��/��
x-morph=”OSHM:HC/R/Ncmpc/Sp3mp” x-cantillationLevel=”1.0” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”4557|��������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1” ”strong=”c/935|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”b/776|������/�� x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.0”
”strong=”l/7843|��/��������/�� x-morph=”OSHM:HR/Vpc/Sp3fs” x-cantillationLevel=”0”�
6 ”strong=”c/1809|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”3966|������
x-morph=”OSHM:HD” x-cantillationLevel=”1.0” ”strong=”m/6440|�������/��
x-morph=”OSHM:HR/Ncbpc” ”strong=”4080|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/2199|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
19+ ”strong=”c/935|������/������ x-morph=”OSHM:HC/Vqq3cp”
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strong=”1121|������ a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 7 ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1” strong=”3588|�����
a” x-morph=”OSHM:HC”���������|strong=”2199” x-morph=”OSHM:HVqp3cp”
strong=”1121|������ a” x-morph=”OSHM:HNcmpc”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”5921|���� a” x-
morph=”OSHM:HR” x-cantillationLevel=”0.0” ”strong=”182|������� x-
morph=”OSHM:HNcfpc” ”strong=”4080|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 8 ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa” ”strong=”5030|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”413|��� x-
morph=”OSHM:HR”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|����/��
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.1.1.1” ”strong=”3541|����
x-morph=”OSHM:HD”�������|strong=”559” x-morph=”OSHM:HVqp3ms”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1.0”
� ”strong=”430|�������� x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.1” ”strong=”595|��������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0.1.0.0” ”strong=”5927|�����������
x-morph=”OSHM:HVhp1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”0.1.0” ”strong=”m/4714|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1” ”strong=”c/3318|�������/�� x-morph=”OSHM:HC/Vhw1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.0”
strong=”m/1004|������/�� b” x-morph=”OSHM:HR/Ncmsc” ”strong=”5650|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0”� 9 ”strong=”c/5337|�������/��
x-morph=”OSHM:HC/Vhw1cs” ”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp”
x-cantillationLevel=”1.1.0” ”strong=”m/3027|�����/�� x-morph=”OSHM:HR/Ncbsc”
”strong=”4713|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/m/3027|�����/��/�� x-morph=”OSHM:HC/R/Ncbsc” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”����/��������|strong=”3905”
x-morph=”OSHM:HVqrmpc/Sp2mp” x-cantillationLevel=”1” ”strong=”c/1644|���������/��
x-morph=”OSHM:HC/Vpw1cs” ”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”m/6440|����/������/�� x-morph=”OSHM:HR/Ncbpc/Sp2mp”
x-cantillationLevel=”0.1” ”strong=”c/5414|�/��������/�� x-morph=”OSHM:HC/Vqw1cs/Sh”
”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”�/��������|strong=”776” x-
morph=”OSHM:HNcbsc/Sp3mp” x-cantillationLevel=”0”� 10 ”strong=”c/559|�/�������/��
x-morph=”OSHM:HC/Vqw1cs/Sh” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp2mp”
x-cantillationLevel=”1.2.1” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”1.2.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp2mp” x-cantillationLevel=”1.2”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3372|����������
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x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”1.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”���������|strong=”430” x-morph=”OSHM:HNcmpc”
”strong=”d/567|��������/�� x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”859|�������
d” x-morph=”OSHM:HPp2mp” x-cantillationLevel=”1.0” ”strong=”3427|�����������
x-morph=”OSHM:HVqrmpa” ”strong=”b/776|�/�������/��� x-morph=”OSHM:HR/Ncbsc/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”
”strong=”8085|������������ x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”0.0”
strong=”b/6963|�/������/��� a” x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-
cantillationLevel=”0”� � 11 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.2.0” ”strong=”4397|��������� x-morph=”OSHM:HNcmsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2”
”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1”
”strong=”8478|������� x-morph=”OSHM:HR” ”strong=”d/424|������/���
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”b/6084|��������/��� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”l/3101|��������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0”
”+strong=”33|������ x-morph=”OSHM:HNgmsa” ”strong=”33|�����������
x-morph=”OSHM:HNgmsa” x-cantillationLevel=”1” ”strong=”c/1439|���������/��
x-morph=”OSHM:HC/Np” strong=”1121|��/����� a” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”2251|������ x-morph=”OSHM:HVqrmsa”
”strong=”2406|�������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0.1.0”
”strong=”b/1660|�����/��� x-morph=”OSHM:HRd/Ncfsa” x-cantillationLevel=”0.1”
”strong=”l/5127|�������/�� x-morph=”OSHM:HR/Vhc” x-cantillationLevel=”0.0”
”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc” ”strong=”4080|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 12 ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/VNw3ms” ”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”4397|���������� x-morph=”OSHM:HNcmsc”
20 Marks a place where we agree with BHQ against BHS in reading L. 21 22
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1” ”strong=”3068|�������
x-morph=”OSHM:HNp” strong=”5973|���/����� a” x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”0.0” ”strong=”1368|��������� x-morph=”OSHM:HAamsc”
”strong=”d/2428|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
13 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” ”strong=”1439|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”994|����� x-morph=”OSHM:HTe” ”strong=”113|�/�������
x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.2” ”strong=”c/3426|�����/��
x-morph=”OSHM:HC/Tm” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” strong=”5973|���/������ a” x-morph=”OSHM:HR/Sp1cp”

20Q
21n Marks an anomalous form.
22p We read punctuation in L differently from BHS.
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x-cantillationLevel=”1.1” ”strong=”c/l/4100|����/���/�� x-morph=”OSHM:HC/R/Ti”
”strong=”4672|���/��������� x-morph=”OSHM:HVqp3fs/Sp1cp” x-cantillationLevel=”1.0”
”strong=”3605|���� x-morph=”OSHM:HNcmsc”������|strong=”2063” x-
morph=”OSHM:HPdxfs” x-cantillationLevel=”1” ”strong=”c/346|�������/��
x-morph=”OSHM:HC/Ti” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”�/�������������|strong=”6381”
x-morph=”OSHM:HVNrfpc/Sp3ms” x-cantillationLevel=”0.2.1.1” strong=”834|�������
a” x-morph=”OSHM:HTr” strong=”5608|�������� a” x-morph=”OSHM:HVpp3cp”���/����|strong=”l”
x-morph=”OSHM:HR/Sp1cp” ”strong=”1|���/��������� x-morph=”OSHM:HNcmpc/Sp1cp”
x-cantillationLevel=”0.2.1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.2.1” ”strong=”i/3808|����/�� x-morph=”OSHM:HTi/Tn”
”strong=”m/4714|������������/�� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.2.0”
”strong=”5927|���/������� x-morph=”OSHM:HVhp3ms/Sp1cp” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”0.1.0” ”strong=”5203|���/��������
x-morph=”OSHM:HVqp3ms/Sp1cp” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/5414|���/���������/��� x-morph=”OSHM:HC/Vqw3ms/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”b/3709|���/��� x-morph=”OSHM:HR/Ncfsc”���������|strong=”4080”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 14 ”strong=”c/6437|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|��/����� x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1” ”strong=”3212|����� x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”1.1.0” strong=”b/3581|���/����/��� b” x-morph=”OSHM:HR/Ncmsc/Sp2ms”
”strong=”2088|���� x-morph=”OSHM:HPdxms” x-cantillationLevel=”1.1”
”strong=”c/3467|������������/�� x-morph=”OSHM:HC/Vhq2ms” ”strong=”853|���
x-morph=”OSHM:HTo”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”m/3709|�����/�� x-morph=”OSHM:HR/Ncfsc”
”strong=”4080|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”i/3808|����/�� x-morph=”OSHM:HTi/Tn” x-cantillationLevel=”0.0”
”strong=”7971|��/������������ x-morph=”OSHM:HVqp1cs/Sp2ms” x-
cantillationLevel=”0”� 15 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��/����� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”994|����� x-morph=”OSHM:HTe” ”strong=”136|�/������� x-
morph=”OSHM:HNcmpc/Sp1cs” x-cantillationLevel=”1.1” ”strong=”b/4100|�����/���
x-morph=”OSHM:HR/Ti” ”strong=”3467|���������� x-morph=”OSHM:HVhi1cs”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”2009|�������
x-morph=”OSHM:HTm” ”strong=”504|��/������� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.1.0” ”strong=”d/1800|�����/�� x-morph=”OSHM:HTd/Aamsa”
”strong=”b/4519|����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1”
”strong=”c/595|��������/�� x-morph=”OSHM:HC/Pp1cs” ”strong=”d/6810|��������/��
x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.0” strong=”b/1004|�����/���
b” x-morph=”OSHM:HR/Ncmsc” ”strong=”1|�/����� x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0”� 16 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��/����� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
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strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”1961|��������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”1.0” strong=”5973|��/������
a” x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1” ”strong=”c/5221|���������/��
x-morph=”OSHM:HC/Vhq2ms” ”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”4080”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”k/376|������/���
x-morph=”OSHM:HR/Ncmsa” ”strong=”259|������ x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”0”� 17 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1”
strong=”518|��� a” x-morph=”OSHM:HC”�����|strong=”4994” x-morph=”OSHM:HTe”
x-cantillationLevel=”1.0.0” ”strong=”4672|��������� x-morph=”OSHM:HVqp1cs”
”strong=”2580|���� x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0”
strong=”b/5869|��/�������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp2ms”
x-cantillationLevel=”1” strong=”c/6213|���������/�� a” x-morph=”OSHM:HC/Vqq2ms”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.1.0”
”strong=”226|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.1”
strong=”s/859|�������/��� a” x-morph=”OSHM:HTr/Pp2ms” x-cantillationLevel=”0.0”
”strong=”1696|��������� x-morph=”OSHM:HVprmsa” strong=”5973|�/������
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”� 18 ”strong=”408|���
x-morph=”OSHM:HTn”�����|strong=”4994” x-morph=”OSHM:HTe” ”strong=”4185|�������
x-morph=”OSHM:HVqj2ms” ”strong=”m/2088|�����/�� x-morph=”OSHM:HR/Pdxms”
x-cantillationLevel=”1.2.0” ”strong=”5704|��� x-morph=”OSHM:HR”�/�������|strong=”935”
x-morph=”OSHM:HVqc/Sp1cs” ”strong=”413|��/������ x-morph=”OSHM:HR/Sp2ms”
x-cantillationLevel=”1.2” ”strong=”c/3318|����������/�� x-morph=”OSHM:HC/Vhq1cs”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�/����������|strong=”4503”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.1” ”strong=”c/3240|������������/��
x-morph=”OSHM:HC/Vhq1cs” x-cantillationLevel=”1.0” ”strong=”l/6440|��/������/��
x-morph=”OSHM:HR/Ncbpc/Sp2ms” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1” ”strong=”595|��������
x-morph=”OSHM:HPp1cs” ”strong=”3427|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0.0” ”strong=”5704|���� x-morph=”OSHM:HR” ”strong=”7725|��/�������
x-morph=”OSHM:HVqc/Sp2ms” x-cantillationLevel=”0”� 19 ”strong=”c/1439|���������/��
x-morph=”OSHM:HC/Np” ”strong=”935|����� x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1.2.1” strong=”c/6213|��������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”1423|������� x-morph=”OSHM:HNcmsc”���������|strong=”5795”
x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.2.0” ”strong=”c/374|������/��
x-morph=”OSHM:HC/Ncfsc”�������|strong=”7058” x-morph=”OSHM:HNcmsc”
”strong=”4682|�������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.2”
”strong=”d/1320|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0”
strong=”7760|����� a” x-morph=”OSHM:HVqp3ms” ”strong=”b/5536|�����/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”c/d/4839|�������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”1.0” strong=”7760|�����
a” x-morph=”OSHM:HVqp3ms” ”strong=”b/6517|��������/��� x-morph=”OSHM:HRd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/3318|��������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.0.0”
”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”8478” x-morph=”OSHM:HR”
”strong=”d/424|������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0”
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”strong=”c/5066|���������/�� x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0”�
� 20 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.2.0” ”strong=”4397|���������
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”strong=”1975|������� x-morph=”OSHM:HPdxcs” x-cantillationLevel=”1.1”
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x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
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”strong=”1439|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
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x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” strong=”3588|����� c”
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”strong=”3119|������� x-morph=”OSHM:HD” x-cantillationLevel=”0.0”
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23Q
24n Marks an anomalous form.
25p We read punctuation in L differently from BHS.
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26Q
27n Marks an anomalous form.
28p We read punctuation in L differently from BHS.
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”strong=”1439|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”l/3651|����/�� c” x-morph=”OSHM:HR/D” x-cantillationLevel=”1.0.1”
”strong=”b/5414|����/��� x-morph=”OSHM:HR/Vqc” ”strong=”3068|�������
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x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”2078”
x-morph=”OSHM:HNp” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”������������|strong=”6759”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”b/3027|�/�����/���
x-morph=”OSHM:HR/Ncbsc/Sp1cs” x-cantillationLevel=”1” ”strong=”c/1758|����������/��
x-morph=”OSHM:HC/Vqq1cs” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”����/���������|strong=”1320” x-morph=”OSHM:HNcmsc/Sp2mp”
x-cantillationLevel=”0.1” ”strong=”854|��� x-morph=”OSHM:HR”��������|strong=”6975”
x-morph=”OSHM:HNcmpc” strong=”d/4057|����������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”strong=”c/854|���/�� x-morph=”OSHM:HC/R”������������/����|strong=”d/1303”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 8 ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”m/8033|������/�� x-morph=”OSHM:HR/D”
x-cantillationLevel=”1.1.0” ”strong=”6439|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/1696|���������/�� x-morph=”OSHM:HC/Vpw3ms”
”strong=”413|����/����� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.0”
”strong=”k/2063|�����/��� x-morph=”OSHM:HR/Pdxfs” x-cantillationLevel=”1”
strong=”c/6030|���������/�� b” x-morph=”OSHM:HC/Vqw3mp” ”strong=”853|���/����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”0.1.0” ”strong=”376|���������
x-morph=”OSHM:HNcmpc” ”strong=”6439|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
strong=”6030|������ b” x-morph=”OSHM:HVqp3cp” x-cantillationLevel=”0.0”
”strong=”376|��������� x-morph=”OSHM:HNcmpc” ”strong=”5523|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 9 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0” ”strong=”1571|����
x-morph=”OSHM:HTa”���������/���|strong=”l/376” x-morph=”OSHM:HR/Ncmpc”
”strong=”6439|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1”
”strong=”b/7725|�/�������/��� x-morph=”OSHM:HR/Vqc/Sp1cs” ”strong=”b/7965|��������/��
x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”0.1” ”strong=”5422|�������
x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.0” ”strong=”853|��� x-
morph=”OSHM:HTo”����������/���|strong=”d/4026” x-morph=”OSHM:HTd/Ncbsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”�
� 10 ”strong=”c/2078|������/�� x-morph=”OSHM:HC/Np” ”strong=”c/6759|�����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.2.2.0” ”strong=”b/7174|���������/���
x-morph=”OSHM:HRd/Np” x-cantillationLevel=”1.2.2” ”strong=”c/4264|����/�������/��
x-morph=”OSHM:HC/Ncbpc/Sp3mp” strong=”5973|��/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.2.1” ”strong=”k/2568|���������/��� x-morph=”OSHM:HR/Acmsc”
”strong=”6240|������� x-morph=”OSHM:HAcmsa” x-cantillationLevel=”1.2.0”
”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”1.2”
”strong=”3605|����� x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.1.0”
”strong=”d/3498|������������/�� x-morph=”OSHM:HTd/VNrmpa” x-
cantillationLevel=”1.1” ”strong=”m/3605|�����/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.0” ”strong=”4264|�������� x-morph=”OSHM:HNcbsc”
strong=”1121|����� a” x-morph=”OSHM:HNcmpc”�������|strong=”6924
a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1” ”strong=”c/d/5307|�����������/��/��
x-morph=”OSHM:HC/Td/Vqrmpa” x-cantillationLevel=”0.1” ”strong=”3967|������
x-morph=”OSHM:HAcbsa” ”strong=”c/6242|����������/�� x-morph=”OSHM:HC/Acbpa”
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”strong=”505|������ x-morph=”OSHM:HAcbsa” x-cantillationLevel=”0.0.0”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
”strong=”8025|�������� x-morph=”OSHM:HVqrmsa” ”strong=”2719|������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� 11 ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1439|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”1870|�������� x-morph=”OSHM:HNcbsc”
x-cantillationLevel=”1.1.0” ”strong=”d/7931|�����������/�� x-morph=”OSHM:HTd/Vqsmpc”
”strong=”b/168|���������/��� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.1”
strong=”m/6924|�������/�� a” x-morph=”OSHM:HR/Ncmsa” ”strong=”l/5025|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0” ”strong=”c/3011|�����������/��
x-morph=”OSHM:HC/Np” x-cantillationLevel=”1” ”strong=”c/5221|������/��
x-morph=”OSHM:HC/Vhw3ms” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”���������/����|strong=”d/4264” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”c/d/4264|���������/���/�� x-morph=”OSHM:HC/Td/Ncbsa”
x-cantillationLevel=”0.0” ”strong=”1961|������ x-morph=”OSHM:HVqp3ms”
”strong=”983|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
12 ”strong=”c/5127|����������/�� x-morph=”OSHM:HC/Vqw3mp” x-
cantillationLevel=”1.1.1” ”strong=”2078|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”c/6759|�����������/�� x-morph=”OSHM:HC/Np”
x-cantillationLevel=”1.1” ”strong=”c/7291|����������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” strong=”310|����/������� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1” ”strong=”c/3920|����������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.1.1” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”8147”
x-morph=”OSHM:HAcmdc” x-cantillationLevel=”0.1.1.0” � ”strong=”4428|��������
x-morph=”OSHM:HNcmpc” ”strong=”4080|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.1” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”2078”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”������������|strong=”6759” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”���������/����|strong=”d/4264”
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”0.0” ”strong=”2729|���������
x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0”� 13 ”strong=”c/7725|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0” ”strong=”1439|����������
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”3101”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” strong=”4480|��� a” x-
morph=”OSHM:HR”�����������/���|strong=”d/4421” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1” ”strong=”m/l/4608|��������/��/��� x-morph=”OSHM:HR/R/Ncmsc”
x-cantillationLevel=”0.0” strong=”d/2775|������/�� a” x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”0”� 14 ”strong=”c/3920|���������/�� x-morph=”OSHM:HC/Vqw3ms”�������|strong=”5288”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0” ”strong=”m/376|���������/��
x-morph=”OSHM:HR/Ncmpc” ”strong=”5523|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”c/7592|���/�����������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/3789|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”8269” x-morph=”OSHM:HNcmpc”
”strong=”5523|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0”
”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��/���������|strong=”2205”
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x-morph=”OSHM:HAampc/Sp3fs” x-cantillationLevel=”0.1” ”strong=”7657|����������
x-morph=”OSHM:HAcbpa” ”strong=”c/7651|���������/�� x-morph=”OSHM:HC/Acmsa”
x-cantillationLevel=”0.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 15 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”376”
x-morph=”OSHM:HNcmpc” ”strong=”5523|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1” ”strong=”2009|������� x-morph=”OSHM:HTm”
x-cantillationLevel=”1.0” ”strong=”2078|������ x-morph=”OSHM:HNp”
”strong=”c/6759|�����������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”2778|�����������
a” x-morph=”OSHM:HVpp2mp” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp1cs”
x-cantillationLevel=”0.1.1.0” ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1.1” ”strong=”i/3709|���/��� x-morph=”OSHM:HTi/Ncfsc”
x-cantillationLevel=”0.1.0.0” ”strong=”2078|������ x-morph=”OSHM:HNp”
”strong=”c/6759|�����������/�� x-morph=”OSHM:HC/Np” ”strong=”6258|�������
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”b/3027|��/�����/���
x-morph=”OSHM:HR/Ncbsc/Sp2ms” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”5414|������� x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”0.0.0” ”strong=”l/376|��/���������/�� x-morph=”OSHM:HR/Ncmpc/Sp2ms”
”strong=”d/3286|����������/�� x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”0.0”
”strong=”3899|������ x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0”�
16 ”strong=”c/3947|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”���������|strong=”2205” x-
morph=”OSHM:HAampc” strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”��������|strong=”6975”
x-morph=”OSHM:HNcmpc” strong=”d/4057|����������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”������������/����|strong=”d/1303”
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” ”strong=”c/3045|�������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.0”
”strong=”376|��������� x-morph=”OSHM:HNcmpc” ”strong=”5523|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 17 ”strong=”c/853|���/��
x-morph=”OSHM:HC/To”����������|strong=”4026” x-morph=”OSHM:HNcbsc”
”strong=”6439|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”5422|������ x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1”
”strong=”c/2026|���������/��� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0”
”strong=”853|��� x-morph=”OSHM:HTo”����������|strong=”376” x-
morph=”OSHM:HNcmpc” strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”0”� 18 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.1” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”2078”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”c/413|���/��
x-morph=”OSHM:HC/R”������������|strong=”6759” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”375|������� x-morph=”OSHM:HTi” x-
cantillationLevel=”1.1.0” ”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
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”strong=”2026|����������� x-morph=”OSHM:HVqp2mp” x-cantillationLevel=”1.0”
”strong=”b/8396|�������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”1”
”strong=”c/559|���������/��� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.2.0”
32 Marks a place where we agree with BHQ against BHS in reading L. 33 34
”strong=”3644|��/������� x-morph=”OSHM:HR/Sp2ms” ”strong=”3644|����/�����
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0.2” ”strong=”259|������
x-morph=”OSHM:HAcmsa” x-cantillationLevel=”0.1” ”strong=”k/8389|������/���
x-morph=”OSHM:HR/Ncmsc” x-cantillationLevel=”0.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”d/4428|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 19 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1” ”strong=”251|�/����� x-morph=”OSHM:HNcmpc/Sp1cs”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc”�/�������|strong=”517”
x-morph=”OSHM:HNcfsc/Sp1cs” x-cantillationLevel=”1.0” ”strong=”1992|����
x-morph=”OSHM:HPp3mp” x-cantillationLevel=”1” strong=”2416|��� a”
x-morph=”OSHM:HAamsa”��������|strong=”3068” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.1” ”strong=”3863|���� x-morph=”OSHM:HC” x-
cantillationLevel=”0.1.0” ”strong=”2421|���������� x-morph=”OSHM:HVhp2mp”
”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”0.1”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”2026|�����������
x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”0.0” ”strong=”853|����/����
x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0”� 20 ”strong=”c/559|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0” ”strong=”l/3500|������/��
x-morph=”OSHM:HR/Np” ”strong=”1060|��/�������� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.1” strong=”6965|����� b” x-morph=”OSHM:HVqv2ms”
x-cantillationLevel=”1.0” ”strong=”2026|������ x-morph=”OSHM:HVqv2ms”
”strong=”853|�/������ x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1”
”strong=”c/3808|���/�� x-morph=”OSHM:HC/Tn”��������|strong=”8025”
x-morph=”OSHM:HVqp3ms” ”strong=”d/5288|�������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”2719|���/������ x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1.0”
strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”3372|������ x-
morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”5750|����/������ x-morph=”OSHM:HD/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”5288|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 21 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1.0” ”strong=”2078|������ x-morph=”OSHM:HNp”
”strong=”c/6759|�����������/�� x-morph=”OSHM:HC/Np” x-cantillationLevel=”1.1.1”
strong=”6965|����� b” x-morph=”OSHM:HVqv2ms” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.1.0” ”strong=”c/6293|�����/��
x-morph=”OSHM:HC/Vqv2ms”���/�����|strong=”b” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1.1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”k/376|������/��
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”1369|��/����������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1” strong=”c/6965|�������/��

32Q
33n Marks an anomalous form.
34v We read one or more vowels in L differently from BHS.
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b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”1439|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.1” ”strong=”c/2026|���������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.2.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”2078”
x-morph=”OSHM:HNp” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”������������|strong=”6759”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.2” ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1.0” ”strong=”853|���
x-morph=”OSHM:HTo”��������������/���|strong=”d/7720” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”0.0” strong=”b/6677|����������/��� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”1581|����/�������� x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”0”�
22 ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”376|������
x-morph=”OSHM:HNcmsc”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”�����������|strong=”1439”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”4910|������
x-morph=”OSHM:HVqv2ms”����/�����|strong=”b” x-morph=”OSHM:HR/Sp1cp”
x-cantillationLevel=”1.1.0” ”strong=”1571|���� x-morph=”OSHM:HTa”��������|strong=”859
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.1” ”strong=”1571|����
x-morph=”OSHM:HTa”���/������|strong=”1121 a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.0” ”strong=”1571|����� x-morph=”OSHM:HTa” strong=”1121|����
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x-morph=”OSHM:HR/Np” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”���������|strong=”6834”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” ”strong=”4124|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”i/7378|�����/�� x-morph=”OSHM:HTi/Vqa”
”strong=”7378|���� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1.0”
strong=”5973|��� a” x-morph=”OSHM:HR”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”518|��� a” x-morph=”OSHM:HC”���������|strong=”3898
a” x-morph=”OSHM:HVNa” strong=”3898|�������� a” x-morph=”OSHM:HVNp3ms”
x-cantillationLevel=”0.0” ”strong=”b|�/���� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 26 ”strong=”b/3427|�������/��� x-morph=”OSHM:HR/Vqc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.2.1”
”strong=”b/2809|�����������/��� x-morph=”OSHM:HR/Np” ”strong=”c/b/1323|��/���������/��/��
x-morph=”OSHM:HC/R/Ncfpc/Sp3fs” x-cantillationLevel=”1.1.2.0” ”strong=”c/b/6177|���������/��/��
x-morph=”OSHM:HC/R/Np” ”strong=”c/b/1323|��/���������/��/��
x-morph=”OSHM:HC/R/Ncfpc/Sp3fs” x-cantillationLevel=”1.1.2” ”strong=”c/b/3605|���/��/��
x-morph=”OSHM:HC/R/Ncmsc”�������/����|strong=”d/5892 b” x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1.1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”1.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�������|strong=”3027”
x-morph=”OSHM:HNcbdc” ”strong=”769|��������� x-morph=”OSHM:HNp”
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x-cantillationLevel=”1.1” ”strong=”7969|�������� x-morph=”OSHM:HAcfsa”
”strong=”3967|������� x-morph=”OSHM:HAcbpa” x-cantillationLevel=”1.0”
”strong=”8141|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1”
”strong=”c/4069|���������/�� x-morph=”OSHM:HC/Ti” ”strong=”3808|����
x-morph=”OSHM:HTn”�������������|strong=”5337” x-morph=”OSHM:HVhp2mp”
x-cantillationLevel=”0.0” ”strong=”b/6256|����/��� x-morph=”OSHM:HRd/Ncbsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs” x-cantillationLevel=”0”�
27 ”strong=”c/595|���������/�� x-morph=”OSHM:HC/Pp1cs” x-cantillationLevel=”1.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn”����������|strong=”2398”
x-morph=”OSHM:HVqp1cs” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”1.1” strong=”c/859|�������/�� a” x-morph=”OSHM:HC/Pp2ms”
x-cantillationLevel=”1.0.0.0” strong=”6213|������� a” x-morph=”OSHM:HVqrmsa”
”strong=”854|�/������ x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0.0”
strong=”7451|������ c” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0”
strong=”l/3898|���������/�� a” x-morph=”OSHM:HR/VNc” ”strong=”b|�/����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” ”strong=”8199|����������
x-morph=”OSHM:HVqi3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”d/8199|��������/�� x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”0.2.0”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2”
”strong=”996|������ x-morph=”OSHM:HR” x-cantillationLevel=”0.1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” ”strong=”c/996|�����/�� x-morph=”OSHM:HC/R”
x-cantillationLevel=”0.0” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”5983|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
28 ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”8085|�������
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”1.1” ”strong=”4428|�������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”1.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”5983|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”1697”
x-morph=”OSHM:HNcmpc” ”strong=”3316|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”7971|������� x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”�
� 29 ”strong=”c/1961|�������/�� x-morph=”OSHM:HC/Vqw3fs” strong=”5921|���
a” x-morph=”OSHM:HR”����������|strong=”3316” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”7307|������ x-morph=”OSHM:HNcbsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”c/5674|���������/�� a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”���������/���|strong=”d/1568” x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�����������|strong=”4519”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” strong=”c/5674|���������/���
a” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.2.0” ”strong=”853|���
x-morph=”OSHM:HTo”����������|strong=”4708” x-morph=”OSHM:HNp”
”strong=”1568|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.2”
”strong=”c/m/4708|����������/��/�� x-morph=”OSHM:HC/R/Np” ”strong=”1568|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” strong=”5674|������ a”
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x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.0” strong=”1121|�������
a” x-morph=”OSHM:HNcmpc” ”strong=”5983|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 30 ”strong=”c/5087|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3316|��������� x-morph=”OSHM:HNp” ”strong=”5088|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0.0” ”strong=”l/3068|������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1” strong=”518|��� a”
x-morph=”OSHM:HC”��������|strong=”5414” x-morph=”OSHM:HVqa”
”strong=”5414|�������� x-morph=”OSHM:HVqi2ms” x-cantillationLevel=”0.0.0”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1121 a” x-
morph=”OSHM:HNcmpc” ”strong=”5983|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”b/3027|�/�����/��� x-morph=”OSHM:HR/Ncbsc/Sp1cs”
x-cantillationLevel=”0”� 31 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms”
”strong=”d/3318|��������/�� x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3318|������
x-morph=”OSHM:HVqi3ms” x-cantillationLevel=”1.1.0.0” strong=”m/1817|���������/��
c” x-morph=”OSHM:HR/Ncfdc” strong=”1004|��/����� b” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”l/7125|�/��������/�� x-morph=”OSHM:HR/Vqc/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”b/7725|�/�������/��� x-morph=”OSHM:HR/Vqc/Sp1cs”
”strong=”b/7965|��������/�� x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.0”
strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc” ”strong=”5983|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/1961|������/��
x-morph=”OSHM:HC/Vqq3ms” x-cantillationLevel=”0.1.0” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1” ”strong=”c/5927|���/����������/��
x-morph=”OSHM:HC/Vhq1cs/Sp3ms” x-cantillationLevel=”0.0” strong=”5930|�������
a” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”� � 32 strong=”c/5674|���������/��
a” x-morph=”OSHM:HC/Vqw3ms” ”strong=”3316|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”1121
a” x-morph=”OSHM:HNcmpc” ”strong=”5983|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” strong=”l/3898|���������/�� a” x-morph=”OSHM:HR/VNc”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1”
”strong=”c/5414|�/��������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
51 Marks a place where we agree with BHQ against BHS in reading L. 52 53
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.0”
”strong=”b/3027|��/����/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”0”�
33 ”strong=”c/5221|�/�������/�� x-morph=”OSHM:HC/Vhw3ms/Sp3mp”
x-cantillationLevel=”1.1.1.1” ”strong=”m/6177|���������/�� x-morph=”OSHM:HR/Np”
”strong=”c/5704|���/�� x-morph=”OSHM:HC/R”���/�������|strong=”935”
x-morph=”OSHM:HVqc/Sp2ms” 54 We read one or more accents in L differ-
ently from BHQ. 55 ”strong=”4511|�������� x-morph=”OSHM:HNp” x-
51Q
52n Marks an anomalous form.
53p We read punctuation in L differently from BHS.
54C
55c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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cantillationLevel=”1.1.1.0” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
strong=”5892|����� b” x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1.1”
”strong=”c/5704|����/�� x-morph=”OSHM:HC/R” x-cantillationLevel=”1.1.0”
”+strong=”64|������ x-morph=”OSHM:HNp” ”strong=”64|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”4347|�������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.0” strong=”1419|����������
a” x-morph=”OSHM:HAafsa” ”strong=”3966|������ x-morph=”OSHM:HD”
x-cantillationLevel=”1” ”strong=”c/3665|�������������/�� x-morph=”OSHM:HC/VNw3mp”
x-cantillationLevel=”0.1.0” strong=”1121|������� a” x-morph=”OSHM:HNcmpc”
”strong=”5983|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”m/6440|�������/�� x-morph=”OSHM:HR/Ncbpc” x-cantillationLevel=”0.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc” ”strong=”3478|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 34 ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3316|��������� x-morph=”OSHM:HNp”
”strong=”d/4709|����������/�� x-morph=”OSHM:HTd/Np” x-cantillationLevel=”1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”���/������|strong=”1004 b” x-
morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.2” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”1323|���/���� x-morph=”OSHM:HNcfsc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”3318|������� x-morph=”OSHM:HVqrfsa”
”strong=”l/7125|��/�������/�� x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”1.1”
”strong=”b/8596|��������/�� x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.0”
”strong=”c/b/4246|���������/��/�� x-morph=”OSHM:HC/R/Ncfpa” x-
cantillationLevel=”1” ”strong=”c/7535|����/�� x-morph=”OSHM:HC/Ta”
x-cantillationLevel=”0.1.0” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
”strong=”3173|��������� x-morph=”OSHM:HAafsa” x-cantillationLevel=”0.1”
”strong=”369|����� x-morph=”OSHM:HTn”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”0.0.0”
strong=”1121|����� a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0”
strong=”176|��� a” x-morph=”OSHM:HC”�����|strong=”1323” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”0”� 35 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”k/7200|��/�������/�� x-morph=”OSHM:HR/Vqc/Sp3ms” ”strong=”853|��/������
x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”1.1.2.0” ”strong=”c/7167|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|��� x-morph=”OSHM:HTo”�/����������|strong=”899
b” x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1.1.2” ”strong=”c/559|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1” ”strong=”162|�������
x-morph=”OSHM:HTj” ”strong=”1323|��/������ x-morph=”OSHM:HNcfsc/Sp1cs”
x-cantillationLevel=”1.1.0” ”strong=”3766|��������� x-morph=”OSHM:HVha”
”strong=”3766|���/������������ x-morph=”OSHM:HVhp2fs/Sp1cs” x-
cantillationLevel=”1.1” strong=”c/859|������/�� c” x-morph=”OSHM:HC/Pp2fs”
x-cantillationLevel=”1.0” ”strong=”1961|�������� x-morph=”OSHM:HVqp2fs”
56We agree with both BHS 1997 and BHQ on an unexpected reading. ”strong=”b/5916|�/��������/���
x-morph=”OSHM:HR/Vqrmpc/Sp1cs” x-cantillationLevel=”1” ”strong=”c/595|��������/��
x-morph=”OSHM:HC/Pp1cs” x-cantillationLevel=”0.1.1” ”strong=”6475|����������
x-morph=”OSHM:HVqp1cs”��/���|strong=”6310” x-morph=”OSHM:HNcmsc/Sp1cs”
56U
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x-cantillationLevel=”0.1.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”c/3808|����/��
x-morph=”OSHM:HC/Tn” ”strong=”3201|������� x-morph=”OSHM:HVqi1cs”
x-cantillationLevel=”0.0” ”strong=”l/7725|������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 36 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2.2”
”strong=”1|��/���� x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.2.1”
”strong=”6475|���������� x-morph=”OSHM:HVqp2ms” ”strong=”853|���
x-morph=”OSHM:HTo”���/������|strong=”6310” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”1.2.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” strong=”6213|�������
a” x-morph=”OSHM:HVqv2ms” ”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.1” strong=”k/834|�������/��� d” x-morph=”OSHM:HR/Tr”
x-cantillationLevel=”1.0” ”strong=”3318|������ x-morph=”OSHM:HVqp3ms”
”strong=”m/6310|��/�����/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms” x-
cantillationLevel=”1” strong=”310|�������� a” x-morph=”OSHM:HR” x-
cantillationLevel=”0.0.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”6213|������� a” x-morph=”OSHM:HVqp3ms” ”strong=”l|���/��
x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.0.1” ”strong=”3068|�������
x-morph=”OSHM:HNp” ”strong=”5360|��������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0.0.0” ”strong=”m/341|��/��������/�� x-morph=”OSHM:HR/Vqrmpc/Sp2ms”
x-cantillationLevel=”0.0” strong=”m/1121|�������/�� a” x-morph=”OSHM:HR/Ncmpc”
”strong=”5983|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
37 ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��/�������|strong=”1” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”1.1” strong=”6213|��������� a” x-morph=”OSHM:HVNi3ms”
”strong=”l|�/���� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.0”
”strong=”d/1697|�������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”1” ”strong=”7503|���������
x-morph=”OSHM:HVhv2ms” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”0.2.1.0” ”strong=”8147|��������� x-morph=”OSHM:HAcmda”
”strong=”2320|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.2.1”
”strong=”c/3212|���������/�� x-morph=”OSHM:HC/Vqh1cs” x-cantillationLevel=”0.2.0”
”strong=”c/3381|�����������/�� x-morph=”OSHM:HC/Vqq1cs” strong=”5921|���
a” x-morph=”OSHM:HR”�������/����|strong=”d/2022” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0.2” ”strong=”c/1058|���������/�� x-morph=”OSHM:HC/Vqi1cs”
x-cantillationLevel=”0.1.0” strong=”5921|��� a” x-morph=”OSHM:HR”�/����������|strong=”1331”
x-morph=”OSHM:HNcbpc/Sp1cs” x-cantillationLevel=”0.1” ”strong=”595|��������
x-morph=”OSHM:HPp1cs” x-cantillationLevel=”0.0” ”strong=”c/7474|�/����/�
x-morph=”OSHM:HC/Ncfpc/Sp1cs” x-wType=”x-ketiv” 57 � 38 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3212|������ x-morph=”OSHM:HVqv2fs”
x-cantillationLevel=”1.1” ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”853|��/������ x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”1.0”

57+ ”strong=”c/7464|�/��������/���/����/� x-morph=”OSHM:HC/Ncfpc/Sp1cs” x-
cantillationLevel=”0”
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”strong=”8147|������� x-morph=”OSHM:HAcmdc” ”strong=”2320|����������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1” ”strong=”c/3212|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”0.1.0” ”strong=”c/7464|��/����������/�� x-morph=”OSHM:HC/Ncfpc/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”c/1058|���������/�� x-morph=”OSHM:HC/Vqw3fs”
strong=”5921|��� a” x-morph=”OSHM:HR”��/�����������|strong=”1331”
x-morph=”OSHM:HNcbpc/Sp3fs” x-cantillationLevel=”0.0” strong=”5921|���
a” x-morph=”OSHM:HR”�������/���|strong=”d/2022” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”0”� 39 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.1.1” ”strong=”m/7093|�����/�� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.2.1.0” � ”strong=”8147|��������� x-morph=”OSHM:HAcmda”
”strong=”2320|���������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.2.1”
”strong=”c/7725|���������/�� x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”��/�������|strong=”1” x-morph=”OSHM:HNcmsc/Sp3fs”
x-cantillationLevel=”1.2” strong=”c/6213|��������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1”
”strong=”853|��� x-morph=”OSHM:HTo”��/�������|strong=”5088” x-
morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”5087|������ x-morph=”OSHM:HVqp3ms”
x-cantillationLevel=”1” ”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3fs”
x-cantillationLevel=”0.1.0” ”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”3045”
x-morph=”OSHM:HVqp3fs” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0.1” ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3fs”�����|strong=”2706”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0” ”strong=”b/3478|�����������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”� 40 ”strong=”m/3117|��������/��
x-morph=”OSHM:HR/Ncmpa” x-cantillationLevel=”1.2.1.0” � ”strong=”3117|�/��������
x-morph=”OSHM:HNcmpa/Sd” x-cantillationLevel=”1.2.1” ”strong=”3212|������������
x-morph=”OSHM:HVqi3fp” x-cantillationLevel=”1.2.0” ”strong=”1323|��������
x-morph=”OSHM:HNcfpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2” ”strong=”l/8567|��������/�� x-morph=”OSHM:HR/Vpc”
x-cantillationLevel=”1.1” ”strong=”l/1323|���/�� x-morph=”OSHM:HR/Ncfsc”����������|strong=”3316”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”d/1569|�����������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1” ”strong=”702|�����������
x-morph=”OSHM:HAcmsc” ”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”0.0” ”strong=”b/8141|��������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0”� �12 ”strong=”c/6817|����������/�� x-morph=”OSHM:HC/VNw3ms”

x-cantillationLevel=”1.1.0” ”strong=”376|������ x-morph=”OSHM:HNcmsc”
”strong=”669|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”

strong=”c/5674|���������/��� a” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0”
”strong=”6828|�/�������� x-morph=”OSHM:HNcfsa/Sd” x-cantillationLevel=”1”
”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”l/3316|���������/��
x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.2.2.2” ”strong=”4069|���������
x-morph=”OSHM:HTi” x-cantillationLevel=”0.2.2.1” � strong=”5674|����������
a” x-morph=”OSHM:HVqp2ms” x-cantillationLevel=”0.2.2.0” � strong=”l/3898|���������/��
a” x-morph=”OSHM:HR/VNc” strong=”b/1121|�����/��� a” x-morph=”OSHM:HR/Ncmpc”���������|strong=”5983”
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x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.2” ”strong=”c/l|����/���/��
x-morph=”OSHM:HC/R/Sp1cp” x-cantillationLevel=”0.2.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”7121|��������� x-morph=”OSHM:HVqp2ms”
x-cantillationLevel=”0.2.0” ”strong=”l/3212|������/�� x-morph=”OSHM:HR/Vqc”
strong=”5973|��/������ a” x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.2”
strong=”1004|���/������ b” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.1”
”strong=”8313|��������� x-morph=”OSHM:HVqi1cp” strong=”5921|��/������
a” x-morph=”OSHM:HR/Sp2ms” x-cantillationLevel=”0.0” ”strong=”b/784|�����/���
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0”� 2 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3316|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0” ”strong=”413|����/����� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”376|������ x-morph=”OSHM:HNcmsc”
”strong=”7379|����� x-morph=”OSHM:HNcbsa” x-cantillationLevel=”1.0.2”
”strong=”1961|��������� x-morph=”OSHM:HVqp1cs” x-cantillationLevel=”1.0.1”
”strong=”589|������ x-morph=”OSHM:HPp1cs” x-cantillationLevel=”1.0.0”
strong=”c/5971|�/������/�� a” x-morph=”OSHM:HC/Ncmsc/Sp1cs” strong=”c/1121|������/��
a” x-morph=”OSHM:HC/Ncmpc”���������|strong=”5983” x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”3966|������ x-morph=”OSHM:HD” x-
cantillationLevel=”1” ”strong=”c/2199|��������/�� x-morph=”OSHM:HC/Vqw1cs”
”strong=”853|����/���� x-morph=”OSHM:HTo/Sp2mp” x-cantillationLevel=”0.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”��������������|strong=”3467”
x-morph=”OSHM:HVhp2mp” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”m/3027|�/������/�� x-morph=”OSHM:HR/Ncbsc/Sp3mp”
x-cantillationLevel=”0”� 3 ”strong=”c/7200|��������/��� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1.2.0” strong=”3588|����� a” x-morph=”OSHM:HC”���/������|strong=”369”
x-morph=”OSHM:HTn/Sp2ms” ”strong=”3467|��������� x-morph=”OSHM:HVhrmsa”
x-cantillationLevel=”1.1.2” 58Marks a place where we agree with BHQ against
BHS in reading L. 59 60 strong=”c/7760|�/���������/�� a” x-morph=”OSHM:HC/Vqw1cs/Sh”
”strong=”5315|�/�������� x-morph=”OSHM:HNcbsc/Sp1cs” ”strong=”b/3709|��/�����/��
x-morph=”OSHM:HR/Ncfsc/Sp1cs” x-cantillationLevel=”1.1.1” strong=”c/5674|��/���������/���
a” x-morph=”OSHM:HC/Vqw1cs/Sh” x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”��������|strong=”1121 a” x-morph=”OSHM:HNcmpc”
”strong=”5983|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”c/5414|�/���������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”b/3027|�/�����/��� x-morph=”OSHM:HR/Ncbsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/l/4100|����/��/�� x-morph=”OSHM:HC/R/Ti” x-cantillationLevel=”0.0.0.0”
”strong=”5927|��������� x-morph=”OSHM:HVqp2mp” ”strong=”413|�/�����
x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0.0” ”strong=”d/3117|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0.0” strong=”l/3898|���������/�� a” x-morph=”OSHM:HR/VNc”
”strong=”b|�/���� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0”�

58Q
59n Marks an anomalous form.
60v We read one or more vowels in L differently from BHS.
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4 ”strong=”c/6908|����������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”3316|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”����������|strong=”376” x-morph=”OSHM:HNcmpc”
”strong=”1568|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”c/3898|����������/�� a” x-morph=”OSHM:HC/VNw3ms” x-cantillationLevel=”1.0”
”strong=”854|��� x-morph=”OSHM:HR”�����������|strong=”669” x-
morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”c/5221|��������/��
x-morph=”OSHM:HC/Vhw3mp” ”strong=”376|��������� x-morph=”OSHM:HNcmpc”
”strong=”1568|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.2.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����������|strong=”669” x-
morph=”OSHM:HNp” x-cantillationLevel=”0.2.2” strong=”3588|����� a”
x-morph=”OSHM:HC” ”strong=”559|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.2.1” strong=”6412|���������� a” x-morph=”OSHM:HNcmpc”
”strong=”669|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.2.0”
strong=”859|������� d” x-morph=”OSHM:HPp2mp” x-cantillationLevel=”0.2”
”strong=”1568|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”b/8432|������/��� x-morph=”OSHM:HR/Ncmsc” ”strong=”669|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”b/8432|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”4519|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 5 ”strong=”c/3920|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”1568|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”853|���� x-morph=”OSHM:HTo”�������������|strong=”4569
b” x-morph=”OSHM:HNcfpc” ”strong=”d/3383|����������/�� x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”1.0” ”strong=”l/669|����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1” ”strong=”c/1961|�����/���� x-morph=”OSHM:HC/Vqp3ms”
x-cantillationLevel=”0.1.0.1” strong=”3588|����� a” x-morph=”OSHM:HC”
”strong=”559|��������� x-morph=”OSHM:HVqi3mp” x-cantillationLevel=”0.1.0.0”
strong=”6412|���������� a” x-morph=”OSHM:HNcmpc” ”strong=”669|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” strong=”5674|����������
a” x-morph=”OSHM:HVqi1cs” x-cantillationLevel=”0.1” ”strong=”c/559|����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
”strong=”376|��������� x-morph=”OSHM:HNcmpc”���������|strong=”1568”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”i/673|����������/���
x-morph=”OSHM:HTd/Ngmsa” strong=”859|������� a” x-morph=”OSHM:HPp2ms”
x-cantillationLevel=”0.0” ”strong=”c/559|���������/�� x-morph=”OSHM:HC/Vqw3ms”
� ”strong=”3808|���� x-morph=”OSHM:HTn” x-cantillationLevel=”0”� 6
”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”l|���/�
x-morph=”OSHM:HR/Sp3ms” ”strong=”559|����� x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” strong=”7641|���������� a” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.2.1.0” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”5451|��������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” strong=”3559|�������
a” x-morph=”OSHM:HVhi3ms” x-cantillationLevel=”1.2.0” ”strong=”l/1696|�������/��
x-morph=”OSHM:HR/Vpc” strong=”3651|����� a” x-morph=”OSHM:HTm”
x-cantillationLevel=”1.2” ”strong=”c/270|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.1”
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strong=”c/7819|���/������������/�� a” x-morph=”OSHM:HC/Vqw3mp/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”�������������|strong=”4569
b” x-morph=”OSHM:HNcfpc” ”strong=”d/3383|����������/�� x-morph=”OSHM:HTd/Np”
x-cantillationLevel=”1” ”strong=”c/5307|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.0.0” ”strong=”b/6256|����/��� x-morph=”OSHM:HRd/Ncbsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs” x-cantillationLevel=”0.1.0”
”strong=”m/669|����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.1”
”strong=”705|������������ x-morph=”OSHM:HAcbpa” ”strong=”c/8147|���������/��
x-morph=”OSHM:HC/Acmda” x-cantillationLevel=”0.0” ”strong=”505|������
x-morph=”OSHM:HAcbsa” x-cantillationLevel=”0”� 7 ”strong=”c/8199|�����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”3316|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”8337|������
x-morph=”OSHM:HAcfsa” ”strong=”8141|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1” ”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.1” ”strong=”3316|��������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0” ”strong=”d/1569|�����������/�� x-morph=”OSHM:HTd/Ngmsa”
x-cantillationLevel=”0.1” ”strong=”c/6912|����������/�� x-morph=”OSHM:HC/VNw3ms”
x-cantillationLevel=”0.0” strong=”b/5892|������/��� b” x-morph=”OSHM:HR/Ncfpc”
”strong=”1568|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
� 8 ”strong=”c/8199|�����������/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”310|��/�������� a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1” ”strong=”78|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”+strong=”m/1035|������/��
x-morph=”OSHM:HR/Np” ”strong=”1035|������ x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 9 ”strong=”c/1961|�����/�� x-morph=”OSHM:HC/Vqw3ms”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2.1.0” ”strong=”7970|�����������
x-morph=”OSHM:HAcbpa” strong=”1121|�������� a” x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1.2.1” ”strong=”c/7970|�����������/�� x-morph=”OSHM:HC/Acbpa”
”strong=”1323|�������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”1.2.0”
”strong=”7971|�������� x-morph=”OSHM:HVpp3ms” ”strong=”d/2351|�/������/��
x-morph=”OSHM:HTd/Ncmsa/Sd” x-cantillationLevel=”1.2” ”strong=”c/7970|�����������/��
x-morph=”OSHM:HC/Acbpa” ”strong=”1323|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”1.1” ”strong=”935|������� x-morph=”OSHM:HVhp3ms”
strong=”l/1121|�/������/�� a” x-morph=”OSHM:HR/Ncmpc/Sp3ms” x-
cantillationLevel=”1.0” strong=”4480|��� a” x-morph=”OSHM:HR”�����/���|strong=”d/2351”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/8199|�����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”7651|�������
x-morph=”OSHM:HAcfsa” ”strong=”8141|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0”� 10 ”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”78|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”0.1”
”strong=”c/6912|����������/�� x-morph=”OSHM:HC/VNw3ms” x-cantillationLevel=”0.0”
”+strong=”b/1035|�����/��� x-morph=”OSHM:HR/Np” ”strong=”1035|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 11 ”strong=”c/8199|�����������/��
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x-morph=”OSHM:HC/Vqw3ms” strong=”310|��/�������� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”356|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”d/2075|�������������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”1” ”strong=”c/8199|�����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”6235|�������
x-morph=”OSHM:HAcfsa” ”strong=”8141|�������� x-morph=”OSHM:HNcfpa”
x-cantillationLevel=”0”� 12 ”strong=”c/4191|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0” ”strong=”356|������� x-morph=”OSHM:HNp”
”strong=”d/2075|�������������/�� x-morph=”OSHM:HTd/Ngmsa” x-
cantillationLevel=”1” ”strong=”c/6912|����������/�� x-morph=”OSHM:HC/VNw3ms”
”strong=”b/357|����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0.0”
”strong=”b/776|������/��� x-morph=”OSHM:HR/Ncbsc” ”strong=”2074|���������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� � 13 ”strong=”c/8199|�����������/��
x-morph=”OSHM:HC/Vqw3ms” strong=”310|�/�������� a” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”5658|����������
x-morph=”OSHM:HNp” strong=”1121|���� a” x-morph=”OSHM:HNcmsc”��������|strong=”1985”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”d/6553|��������������/��
x-morph=”OSHM:HTd/Ngmsa” x-cantillationLevel=”0”� 14 ”strong=”c/1961|�����/��
x-morph=”OSHM:HC/Vqw3ms”��/���|strong=”l” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”1.1.1.0” ”strong=”705|������������ x-morph=”OSHM:HAcbpa”
strong=”1121|�������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.1”
”strong=”c/7970|�����������/�� x-morph=”OSHM:HC/Acbpa” x-cantillationLevel=”1.1.0”
strong=”1121|������� a” x-morph=”OSHM:HNcmpc” strong=”1121|�������
a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1” ”strong=”7392|���������
x-morph=”OSHM:HVqrmpa” x-cantillationLevel=”1.0” strong=”5921|��� a”
x-morph=”OSHM:HR”�����������|strong=”7657” x-morph=”OSHM:HAcbpa”
”strong=”5895|�������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1”
”strong=”c/8199|�����������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|���
x-morph=”OSHM:HTo”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”8083|��������� x-morph=”OSHM:HAcfsa”
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x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”6113|��������� x-morph=”OSHM:HVqh1cp”������|strong=”4994”
x-morph=”OSHM:HTj” ”strong=”853|��/������ x-morph=”OSHM:HTo/Sp2fs”
x-cantillationLevel=”0.1” strong=”c/6213|���������/�� a” x-morph=”OSHM:HC/Vqi1cp”
”strong=”l/6440|��/������/�� x-morph=”OSHM:HR/Ncbpc/Sp2ms” x-
cantillationLevel=”0.0” ”strong=”1423|������� x-morph=”OSHM:HNcmsc”
”strong=”5795|�������� x-morph=”OSHM:HNcfpa” x-cantillationLevel=”0”�
16 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”4397|���������
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.1.0” ”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”4495”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.1” strong=”518|��� a” x-
morph=”OSHM:HC”����/�����������|strong=”6113” x-morph=”OSHM:HVqi2ms/Sp1cs”
x-cantillationLevel=”1.2.0” ”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”398”
x-morph=”OSHM:HVqi1cs” ”strong=”b/3899|��/�������/��� x-morph=”OSHM:HR/Ncbsc/Sp2ms”
x-cantillationLevel=”1.2” strong=”c/518|���/�� a” x-morph=”OSHM:HC/C”�����������|strong=”6213
a” x-morph=”OSHM:HVqi2ms” strong=”5930|������ a” x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.1” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”5927|����/�������� x-morph=”OSHM:HVhi2ms/Sp3fs”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” x-
cantillationLevel=”0.1.0” ”strong=”3808|��� x-morph=”OSHM:HTn”�������|strong=”3045”
x-morph=”OSHM:HVqp3ms” ”strong=”4495|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC”����������|strong=”4397”
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0”� 17 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”4495|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”413|��� x-morph=”OSHM:HR”����������|strong=”4397” x-
morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”4310|���� x-morph=”OSHM:HTi” ”strong=”8034|��/������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC”�������|strong=”935” x-morph=”OSHM:HVqi3ms”
”strong=”1697|�/���� x-morph=”OSHM:HNcmpc/Pp2ms” x-wType=”x-ketiv”
61 ”strong=”c/3513|��/�����������/�� x-morph=”OSHM:HC/Vpp1cp/Sp2ms”
x-cantillationLevel=”0”� 18 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.0”

61+ ”strong=”1697|���/�������/���� x-morph=”OSHM:HNcmsc/Pp2ms” x-
cantillationLevel=”0.0”
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62 Marks a place where we agree with BHQ against BHS in reading L. 63 64
”strong=”4397|��������� x-morph=”OSHM:HNcmsc” ”strong=”3068|�������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”l/4100|����/���
x-morph=”OSHM:HR/Ti” ”strong=”2088|����� x-morph=”OSHM:HPdxms”
x-cantillationLevel=”1.0” ”strong=”7592|���������� x-morph=”OSHM:HVqi2ms”
”strong=”l/8034|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”1”
”strong=”c/1931|����/�� x-morph=”OSHM:HC/Pp3ms”��������|strong=”6383”
x-morph=”OSHM:HAamsa” x-cantillationLevel=”0”� 65 66 67 � 19 ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”4495|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”1423”
x-morph=”OSHM:HNcmsc” ”strong=”d/5795|��������/�� x-morph=”OSHM:HTd/Ncfpa”
x-cantillationLevel=”1.1.0” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”���������/���|strong=”d/4503”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1” ”strong=”c/5927|�������/��
x-morph=”OSHM:HC/Vhw3ms” strong=”5921|��� a” x-morph=”OSHM:HR”������/���|strong=”d/6697”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”l/3068|������/���
x-morph=”OSHM:HR/Np” x-cantillationLevel=”1” ”strong=”c/6381|��������/��
x-morph=”OSHM:HC/Vhrmsa” strong=”l/6213|��������/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0.1” ”strong=”c/4495|��������/�� x-morph=”OSHM:HC/Np”
”strong=”c/802|��/��������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-
cantillationLevel=”0.0” ”strong=”7200|������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”0”� 20 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”b/5927|�������/�� x-morph=”OSHM:HR/Vqc” ”strong=”d/3851|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0.0” strong=”m/5921|����/��
a” x-morph=”OSHM:HR/R” ”strong=”d/4196|������������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.0” ”strong=”d/8064|�/�����������/�� x-morph=”OSHM:HTd/Ncmpa/Sd”
x-cantillationLevel=”1.1” ”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”4397|�������� x-morph=”OSHM:HNcmsc”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”b/3851|������/���
x-morph=”OSHM:HR/Ncmsc” ”strong=”d/4196|�����������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/4495|��������/�� x-morph=”OSHM:HC/Np”
”strong=”c/802|���/�������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-
cantillationLevel=”0.1.0” ”strong=”7200|������� x-morph=”OSHM:HVqrmpa”
x-cantillationLevel=”0.1” ”strong=”c/5307|����������/�� x-morph=”OSHM:HC/Vqw3mp”
strong=”5921|��� a” x-morph=”OSHM:HR”����/�������|strong=”6440”
x-morph=”OSHM:HNcbpc/Sp3mp” x-cantillationLevel=”0.0” ”strong=”776|�/�������
x-morph=”OSHM:HNcbsa/Sd” x-cantillationLevel=”0”� 21 ”strong=”c/3808|���/��
x-morph=”OSHM:HC/Tn”�������|strong=”3254” x-morph=”OSHM:HVqp3ms”
”strong=”5750|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.1.0” ”strong=”4397|���������
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”

62Q
63n Marks an anomalous form.
64p We read punctuation in L differently from BHS.
65Q Marks a place where we agree with BHQ against BHS in reading L.
66c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
67n Marks an anomalous form.
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x-cantillationLevel=”1.1” ”strong=”l/7200|��������/�� x-morph=”OSHM:HR/VNc”
x-cantillationLevel=”1.0” ”strong=”413|��� x-morph=”OSHM:HR”���������|strong=”4495”
x-morph=”OSHM:HNp” ”strong=”c/413|���/�� x-morph=”OSHM:HC/R”��/���������|strong=”802”
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1” strong=”227|����
a” x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”3045|������
x-morph=”OSHM:HVqp3ms” ”strong=”4495|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC”����������|strong=”4397”
x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”
x-cantillationLevel=”0”� 22 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”4495|�������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0”
”strong=”413|��� x-morph=”OSHM:HR”��/���������|strong=”802” x-
morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”4191|�����
x-morph=”OSHM:HVqa” ”strong=”4191|������� x-morph=”OSHM:HVqi1cp”
x-cantillationLevel=”1” strong=”3588|����� a” x-morph=”OSHM:HC” ”strong=”430|���������
x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.0” ”strong=”7200|���������
x-morph=”OSHM:HVqp1cp” x-cantillationLevel=”0”� 23 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms”
”strong=”802|��/�������� x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”1.1.2”
”strong=”3863|���� x-morph=”OSHM:HC” strong=”2654|������ a” x-
morph=”OSHM:HVqp3ms” ”strong=”3068|������� x-morph=”OSHM:HNp”
”strong=”l/4191|����/��������/�� x-morph=”OSHM:HR/Vhc/Sp1cp”
x-cantillationLevel=”1.1.1” ”strong=”3808|���� x-morph=”OSHM:HTn”�������|strong=”3947”
x-morph=”OSHM:HVqp3ms” ”strong=”m/3027|����/������/�� x-morph=”OSHM:HR/Ncbsc/Sp1cp”
x-cantillationLevel=”1.1.0” strong=”5930|������ a” x-morph=”OSHM:HNcfsa”
”strong=”c/4503|��������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”1.1”
”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn” ”strong=”7200|���/�������
x-morph=”OSHM:HVhp3ms/Pp1cp” x-cantillationLevel=”1.0” ”strong=”853|���
x-morph=”OSHM:HTo”�����|strong=”3605” x-morph=”OSHM:HNcmsc”��������|strong=”428”
x-morph=”OSHM:HPdxcp” x-cantillationLevel=”1” ”strong=”c/k/6256|����/��/��
x-morph=”OSHM:HC/Rd/Ncbsa” x-cantillationLevel=”0.1” ”strong=”3808|����
x-morph=”OSHM:HTn” ”strong=”8085|���/����������� x-morph=”OSHM:HVhp3ms/Sp1cp”
x-cantillationLevel=”0.0” ”strong=”k/2063|�����/��� x-morph=”OSHM:HR/Pdxfs”
x-cantillationLevel=”0”� 24 ”strong=”c/3205|�������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”d/802|��������/��� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.0”
strong=”1121|����� a” x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.1”
”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”853|���
x-morph=”OSHM:HTo”��/������|strong=”8034” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”8123|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1” ”strong=”c/1431|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/5288|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”c/1288|���/���������/��� x-morph=”OSHM:HC/Vpw3ms/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 25 strong=”c/2490|��������/�� c” x-morph=”OSHM:HC/Vhw3fs”
x-cantillationLevel=”1.1.0” ”strong=”7307|������ x-morph=”OSHM:HNcbsc”
”strong=”3068|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
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”strong=”l/6470|��/������/�� x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”1.0”
”strong=”b/4264|�������/��� x-morph=”OSHM:HR/Np”�����|strong=”1835”
x-morph=”OSHM:HNp” x-cantillationLevel=”1” ”strong=”996|������ x-
morph=”OSHM:HR” ”strong=”6881|�������� x-morph=”OSHM:HNp” x-
cantillationLevel=”0.0” ”strong=”c/996|�����/�� x-morph=”OSHM:HC/R”
”strong=”847|������������ x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
�14 ”strong=”c/3381|�������/�� x-morph=”OSHM:HC/Vqw3ms”

”strong=”8123|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”8553|�/���������� x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”1”

”strong=”c/7200|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”802|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0.0.0” ”strong=”b/8553|�/���������/���
x-morph=”OSHM:HR/Np/Sd” x-cantillationLevel=”0.0” ”strong=”m/1323|��������/��
x-morph=”OSHM:HR/Ncfpc” ”strong=”6430|�������������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”0”� 2 ”strong=”c/5927|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1” ”strong=”c/5046|��������/�� x-morph=”OSHM:HC/Vhw3ms”
x-cantillationLevel=”1.1.0” ”strong=”l/1|�/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
”strong=”c/l/517|��/�����/��/�� x-morph=”OSHM:HC/R/Ncfsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.0.1” ”strong=”802|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0.0” ”strong=”7200|��������� x-morph=”OSHM:HVqp1cs”
”strong=”b/8553|�/���������/�� x-morph=”OSHM:HR/Np/Sd” x-cantillationLevel=”1.0”
”strong=”m/1323|��������/�� x-morph=”OSHM:HR/Ncfpc” ”strong=”6430|��������������
x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1” ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”0.1” ”strong=”3947|�����
x-morph=”OSHM:HVqv2mp”��/�������|strong=”853” x-morph=”OSHM:HTo/Sp3fs”
”strong=”l|�/���� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”0.0”
”strong=”l/802|��������/�� x-morph=”OSHM:HR/Ncfsa” x-cantillationLevel=”0”�
3 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”l|��/��
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2.1.0” ”strong=”1|�/������
x-morph=”OSHM:HNcmsc/Sp3ms” ”strong=”c/517|��/�����/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”1.2.1” ”strong=”i/369|�����/�� x-morph=”OSHM:HTi/Tn”
”strong=”b/1323|�������/��� x-morph=”OSHM:HR/Ncfpc” ”strong=”251|��/������
x-morph=”OSHM:HNcmpc/Sp2ms” ”strong=”c/b/3605|���/��/�� x-morph=”OSHM:HC/R/Ncmsc”��/������|strong=”5971
b” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”1.2.0” ”strong=”802|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.2” strong=”3588|�����
a” x-morph=”OSHM:HC”��������|strong=”859 a” x-morph=”OSHM:HPp2ms”
”strong=”1980|�������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.1.0”
”strong=”l/3947|������/�� x-morph=”OSHM:HR/Vqc” ”strong=”802|��������
x-morph=”OSHM:HNcfsa” x-cantillationLevel=”1.1” ”strong=”m/6430|��������������/��
x-morph=”OSHM:HR/Ngmpa” x-cantillationLevel=”1.0” ”strong=”d/6189|���������/��
x-morph=”OSHM:HTd/Aampa” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8123|����������� x-morph=”OSHM:HNp”
”strong=”413|��� x-morph=”OSHM:HR”��/������|strong=”1” x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”853|��/������ x-morph=”OSHM:HTo/Sp3fs”
”strong=”3947|���� x-morph=”OSHM:HVqv2ms”�/����|strong=”l” x-morph=”OSHM:HR/Sp1cs”
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x-cantillationLevel=”0.1” strong=”3588|����� a” x-morph=”OSHM:HC”������|strong=”1931”
x-morph=”OSHM:HPp3fs” x-cantillationLevel=”0.0” ”strong=”3474|���������
x-morph=”OSHM:HVqp3fs” strong=”b/5869|�/������/�� a” x-morph=”OSHM:HR/Ncbdc/Sp1cs”
x-cantillationLevel=”0”� 4 ”strong=”c/1|�/������/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms”
”strong=”c/517|��/�����/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-cantillationLevel=”1.1.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”3045|�������� x-
morph=”OSHM:HVqp3cp” x-cantillationLevel=”1.1.1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”m/3068|�������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.1.0” ”strong=”1931|����� x-morph=”OSHM:HPp3fs”
x-cantillationLevel=”1.1” strong=”3588|���� a” x-morph=”OSHM:HC”���������|strong=”8385
b” x-morph=”OSHM:HNcfsa” ”strong=”1931|����� x-morph=”OSHM:HPp3ms”�����������|strong=”1245”
x-morph=”OSHM:HVprmsa” x-cantillationLevel=”1.0” ”strong=”m/6430|��������������/��
x-morph=”OSHM:HR/Ngmpa” x-cantillationLevel=”1” ”strong=”c/b/6256|����/��/��
x-morph=”OSHM:HC/Rd/Ncbsa” ”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3fs”
x-cantillationLevel=”0.1” ”strong=”6430|�������������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”0.0” ”strong=”4910|���������� x-morph=”OSHM:HVqrmpa”
”strong=”b/3478|�����������/��� x-morph=”OSHM:HR/Np” x-cantillationLevel=”0”�
� 5 ”strong=”c/3381|�������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”8123|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0.0” ”strong=”c/1|�/������/��
x-morph=”OSHM:HC/Ncmsc/Sp3ms” ”strong=”c/517|��/�����/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”8553|�/���������� x-morph=”OSHM:HNp/Sd”
x-cantillationLevel=”1” ”strong=”c/935|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.2.0” ”strong=”5704|��� x-morph=”OSHM:HR”����������|strong=”3754”
x-morph=”OSHM:HNcbpc” ”strong=”8553|�/��������� x-morph=”OSHM:HNp/Sd”
x-cantillationLevel=”0.2” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
x-cantillationLevel=”0.1.0” strong=”3715|�������� a” x-morph=”OSHM:HNcmsc”
strong=”738|��������� a” x-morph=”OSHM:HNcmpa” x-cantillationLevel=”0.1”
”strong=”7580|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.0”
”strong=”l/7125|��/�������/�� x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”0”�
6 strong=”c/6743|���������/�� a” x-morph=”OSHM:HC/Vqw3fs” strong=”5921|�/������
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1.1.0” ”strong=”7307|������
x-morph=”OSHM:HNcbsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1.1” ”strong=”c/8156|����/�����������/��� x-
morph=”OSHM:HC/Vpw3ms/Sp3ms” x-cantillationLevel=”1.1.0” ”strong=”k/8156|��������/���
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x-cantillationLevel=”0”� 3 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
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68C
69c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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morph=”OSHM:HR”�/�������������|strong=”2220” x-morph=”OSHM:HNcbpc/Sp3ms”
x-cantillationLevel=”0.1.1” ”strong=”k/6593|������������/��� x-morph=”OSHM:HRd/Ncmpa”
x-cantillationLevel=”0.1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”1197|��������� a” x-morph=”OSHM:HVqp3cp” ”strong=”b/784|�����/��
x-morph=”OSHM:HRd/Ncbsa” x-cantillationLevel=”0.1” ”strong=”c/4549|�����������/��
x-morph=”OSHM:HC/VNw3mp” ”strong=”612|�/��������� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”0.0” strong=”m/5921|����/�� a” x-morph=”OSHM:HR/R”
”strong=”3027|�/������ x-morph=”OSHM:HNcbdc/Sp3ms” x-cantillationLevel=”0”�
15 ”strong=”c/4672|���������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”3895|������
x-morph=”OSHM:HNcbsc”��������|strong=”2543” x-morph=”OSHM:HNcbsa”
x-cantillationLevel=”1.0” ”strong=”2961|��������� x-morph=”OSHM:HAafsa”
x-cantillationLevel=”1” ”strong=”c/7971|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”3027|���/��� x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”0.1.0”
”strong=”c/3947|��/���������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”c/5221|�����/�� x-morph=”OSHM:HC/Vhw3ms”��/�����|strong=”b”
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0.0” ”strong=”505|������
x-morph=”OSHM:HAcbsa” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 16 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”

70Q
71n Marks an anomalous form.
72v We read one or more vowels in L differently from BHS.
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”strong=”8123|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2”
”strong=”b/3895|������/��� x-morph=”OSHM:HR/Ncbsc” ”strong=”d/2543|�������/��
x-morph=”OSHM:HTd/Ncbsa” x-cantillationLevel=”1.1” ”strong=”2565|�������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.0” ”strong=”2565|������������
x-morph=”OSHM:HNcmda” x-cantillationLevel=”1” ”strong=”b/3895|������/���
x-morph=”OSHM:HR/Ncbsc” ”strong=”d/2543|�������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”5221|���������� x-morph=”OSHM:HVhp1cs”
x-cantillationLevel=”0.0” ”strong=”505|������ x-morph=”OSHM:HAcbsa”
”strong=”376|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”�
17 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0”
”strong=”k/3615|��/�������/��� x-morph=”OSHM:HR/Vpc/Sp3ms” ”strong=”l/1696|�������/��
x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”1.1” ”strong=”c/7993|�����������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”d/3895|�������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”1.0” ”strong=”m/3027|��/�����/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/7121|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0.0” ”strong=”l/4725|��������/�� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/1931|�����/�� x-morph=”OSHM:HTd/Pp3ms” x-cantillationLevel=”0.0”
”+strong=”7437|������ x-morph=”OSHM:HNp” ”strong=”7437|������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 18 ”strong=”c/6770|���������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.3.0” ”strong=”3966|������
x-morph=”OSHM:HD” x-cantillationLevel=”1.3” ”strong=”c/7121|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2” strong=”859|�������
a” x-morph=”OSHM:HPp2ms” x-cantillationLevel=”1.1.0” ”strong=”5414|��������
x-morph=”OSHM:HVqp2ms” ”strong=”b/3027|����/�� x-morph=”OSHM:HR/Ncbsc”���/��������|strong=”5650”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”853|���
x-morph=”OSHM:HTo”�����������/���|strong=”d/8668” x-morph=”OSHM:HTd/Ncfsa”
strong=”d/1419|���������/�� a” x-morph=”OSHM:HTd/Aafsa” x-cantillationLevel=”1.0”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”1”
”strong=”c/6258|�������/�� x-morph=”OSHM:HC/D” x-cantillationLevel=”0.1.0”
”strong=”4191|������� x-morph=”OSHM:HVqi1cs” ”strong=”b/6772|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”0.1” ”strong=”c/5307|�����������/��
x-morph=”OSHM:HC/Vqp1cs” x-cantillationLevel=”0.0” ”strong=”b/3027|����/���
x-morph=”OSHM:HR/Ncbsc” ”strong=”d/6189|���������/�� x-morph=”OSHM:HTd/Aampa”
x-cantillationLevel=”0”� 19 ”strong=”c/1234|���������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”430|��������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.1.0”
”strong=”853|��� x-morph=”OSHM:HTo”�����������/���|strong=”d/4388”
x-morph=”OSHM:HTd/Ncmsa” strong=”834|������ a” x-morph=”OSHM:HTr”�������/����|strong=”b/3895”
x-morph=”OSHM:HRd/Np” x-cantillationLevel=”1.1.1” ”strong=”c/3318|���������/��
x-morph=”OSHM:HC/Vqw3mp” strong=”4480|����/������ a” x-morph=”OSHM:HR/Sp1cp”
”strong=”4325|������� x-morph=”OSHM:HNcmpa” x-cantillationLevel=”1.1.0”
”strong=”c/8354|����������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1”
”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”7307|��/�����
x-morph=”OSHM:HNcbsc/Sp3ms” x-cantillationLevel=”1.0” ”strong=”c/2421|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1” strong=”5921|���
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a” x-morph=”OSHM:HR”������|strong=”3651 c” x-morph=”OSHM:HTm”
x-cantillationLevel=”0.1.1.0” � ”strong=”7121|������ x-morph=”OSHM:HVqp3ms”
”strong=”8034|��/������ x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0.1.1”
”+strong=”5875|����� x-morph=”OSHM:HNp” ”strong=”5875|����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0.1.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”b/3896|�������/��� x-morph=”OSHM:HRd/Np”
x-cantillationLevel=”0.1” ”strong=”5704|���� x-morph=”OSHM:HR” x-cantillationLevel=”0.0”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0”� 20 ”strong=”c/8199|�����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|��� x-morph=”OSHM:HTo”������������|strong=”3478”
x-morph=”OSHM:HNp” x-cantillationLevel=”0.0.0” ”strong=”b/3117|�����/���
x-morph=”OSHM:HR/Ncmpc” ”strong=”6430|������������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”0.0” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
”strong=”8141|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
�16 ”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms”

”strong=”8123|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.0”
”strong=”5804|�/�������� x-morph=”OSHM:HNp/Sd” x-cantillationLevel=”1”

”strong=”c/7200|������/�� x-morph=”OSHM:HC/Vqw3ms”������|strong=”8033”
x-morph=”OSHM:HD” x-cantillationLevel=”0.1.0” ”strong=”802|��������
x-morph=”OSHM:HNcfsa” ”strong=”2181|������� x-morph=”OSHM:HVqrfsa”
x-cantillationLevel=”0.1” ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” ”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”0”� 2 ”strong=”l/5841|����������/��� x-morph=”OSHM:HRd/Np”
x-cantillationLevel=”1.1.1.0” � ”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.1.1” ”strong=”935|����� x-morph=”OSHM:HVqp3ms”
”strong=”8123|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0”
”strong=”2008|������� x-morph=”OSHM:HD” x-cantillationLevel=”1.1”
”strong=”c/5437|����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0.0”
”strong=”c/693|����������/�� x-morph=”OSHM:HC/Vqw3mp”��/���|strong=”l”
x-morph=”OSHM:HR/Sp3ms” ”strong=”3605|��� x-morph=”OSHM:HNcmsc”���������/���|strong=”d/3915”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”b/8179|�������/���
x-morph=”OSHM:HR/Ncmsc” strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1” strong=”c/2790|��������������/�� b” x-morph=”OSHM:HC/Vtw3mp”
”strong=”3605|��� x-morph=”OSHM:HNcmsc”����������/���|strong=”d/3915”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”l/559|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1” ”strong=”5704|��� x-
morph=”OSHM:HR”������|strong=”216” x-morph=”OSHM:HNcbsc” ”strong=”d/1242|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0” ”strong=”c/2026|���/���������/��
x-morph=”OSHM:HC/Vqp1cp/Sp3ms” x-cantillationLevel=”0”� 73We agree
with both BHS 1997 and BHQ on an unexpected reading. 3 ”strong=”c/7901|�����������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8123|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.3.0” ”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”2677”
x-morph=”OSHM:HNcmsc” ”strong=”d/3915|���������/�� x-morph=”OSHM:HTd/Ncmsa”
73U
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x-cantillationLevel=”1.3” strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.1.0” � ”strong=”b/2677|������/��� x-morph=”OSHM:HR/Ncmsc”
”strong=”d/3915|���������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.1”
”strong=”c/270|���������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.2.0.0”
strong=”b/1817|���������/��� c” x-morph=”OSHM:HR/Ncfpc” ”strong=”8179|�������
x-morph=”OSHM:HNcmsc”�����/���|strong=”d/5892 b” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1.2.0” ”strong=”c/b/8147|��������/��/�� x-morph=”OSHM:HC/R/Acfdc”
”strong=”d/4201|�����������/�� x-morph=”OSHM:HTd/Ncfpa” x-cantillationLevel=”1.2”
”strong=”c/5265|��/��������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3mp”
x-cantillationLevel=”1.1.0” strong=”5973|���� a” x-morph=”OSHM:HR”���������/���|strong=”d/1280”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” strong=”c/7760|��������/��
a” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0” strong=”5921|���
a” x-morph=”OSHM:HR”�/����������|strong=”3802” x-morph=”OSHM:HNcfdc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/5927|��/�������/��� x-morph=”OSHM:HC/Vhw3ms/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”413|��� x-morph=”OSHM:HR”�������|strong=”7218
a” x-morph=”OSHM:HNcmsc” ”strong=”d/2022|����/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” strong=”834|������� a” x-morph=”OSHM:HTr”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”��������|strong=”6440”
x-morph=”OSHM:HNcbpc” strong=”2275|��������� a” x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� � 4 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” strong=”310|������� a” x-morph=”OSHM:HR”�����|strong=”3651
c” x-morph=”OSHM:HD” x-cantillationLevel=”1.1” ”strong=”c/157|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”802|�������� x-morph=”OSHM:HNcfsa”
x-cantillationLevel=”1.0” strong=”b/5158|������/��� a” x-morph=”OSHM:HR/Ncmsc”
”strong=”7796|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
”strong=”c/8034|��/������/�� x-morph=”OSHM:HC/Ncmsc/Sp3fs” x-cantillationLevel=”0.0”
”strong=”1807|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
5 ”strong=”c/5927|���������/�� x-morph=”OSHM:HC/Vqw3mp” ”strong=”413|��/������
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.2.3.0” strong=”5633|��������
a” x-morph=”OSHM:HNcmpc” ”strong=”6430|������������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”1.2.3” ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”l|��/��� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.2.2.0”
strong=”6601|�������� b” x-morph=”OSHM:HVpv2fs” ”strong=”853|��/�����
x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.2.2” ”strong=”c/7200|������/��
x-morph=”OSHM:HC/Vqv2fs” x-cantillationLevel=”1.2.1” ”strong=”b/4100|�����/���
x-morph=”OSHM:HR/Ti” x-cantillationLevel=”1.2.0” strong=”3581|��/�����
b” x-morph=”OSHM:HNcmsc/Sp3ms” strong=”1419|������� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1.2” ”strong=”c/b/4100|�����/��/�� x-morph=”OSHM:HC/R/Ti”
x-cantillationLevel=”1.1.0” ”strong=”3201|������� x-morph=”OSHM:HVqi1cp”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1”
”strong=”c/631|���/���������/�� x-morph=”OSHM:HC/Vqp1cp/Sp3ms”
x-cantillationLevel=”1.0” strong=”l/6031|��/�������/�� b” x-morph=”OSHM:HR/Vpc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/587|�����������/�� x-morph=”OSHM:HC/Pp1cp”
x-cantillationLevel=”0.2.0” ”strong=”5414|������ x-morph=”OSHM:HVqi1cp”��/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”0.2” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”505|������
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x-morph=”OSHM:HAcbsa” ”strong=”c/3967|������/�� x-morph=”OSHM:HC/Acbsa”
x-cantillationLevel=”0.0” ”strong=”3701|������� x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”0”� 6 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”1807|���������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.2.0”
”strong=”413|��� x-morph=”OSHM:HR”������������|strong=”8123”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.2” ”strong=”5046|�/���������
x-morph=”OSHM:HVhv2ms/Sh”������|strong=”4994” x-morph=”OSHM:HTj”
”strong=”l|�/��� x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1.1” ”strong=”b/4100|�����/���
x-morph=”OSHM:HR/Ti” x-cantillationLevel=”1.0” strong=”3581|���/�����
b” x-morph=”OSHM:HNcmsc/Sp2ms” strong=”1419|������� a” x-morph=”OSHM:HAamsa”
x-cantillationLevel=”1” ”strong=”c/b/4100|�����/��/�� x-morph=”OSHM:HC/R/Ti”
”strong=”631|�������� x-morph=”OSHM:HVNi2ms” x-cantillationLevel=”0.0”
strong=”l/6031|��/���������/�� b” x-morph=”OSHM:HR/Vpc/Sp2ms”
x-cantillationLevel=”0”� 7 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|���/������ x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.1.0”
”strong=”8123|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
strong=”518|��� a” x-morph=”OSHM:HC”���/����������|strong=”631”
x-morph=”OSHM:HVqi3mp/Sp1cs” x-cantillationLevel=”1.0.1” ”strong=”b/7651|���������/���
x-morph=”OSHM:HR/Acmsa” x-cantillationLevel=”1.0.0” strong=”3499|���������
b” x-morph=”OSHM:HNcmpa” ”strong=”3892|������� x-morph=”OSHM:HAampa”
x-cantillationLevel=”1.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3808|��� x-morph=”OSHM:HTn”���������|strong=”2717 a”
x-morph=”OSHM:HVPp3cp” x-cantillationLevel=”1” 74 Marks a place where
we agree with BHQ against BHS in reading L. 75 strong=”c/2470|���������/��
a” x-morph=”OSHM:HC/Vqp1cs” ”strong=”c/1961|���������/�� x-morph=”OSHM:HC/Vqp1cs”
x-cantillationLevel=”0.0” ”strong=”k/259|������/��� x-morph=”OSHM:HR/Acmsc”
”strong=”d/120|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”�
8 ”strong=”c/5927|��������/�� x-morph=”OSHM:HC/Vhw3mp”��/����|strong=”l”
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.0.1.0” strong=”5633|��������
a” x-morph=”OSHM:HNcmpc” ”strong=”6430|������������� x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”1.0.1” ”strong=”7651|��������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0.0” strong=”3499|��������� b” x-morph=”OSHM:HNcmpa”
”strong=”3892|������� x-morph=”OSHM:HAampa” x-cantillationLevel=”1.0”
strong=”834|������� a” x-morph=”OSHM:HTr” ”strong=”3808|��� x-
morph=”OSHM:HTn”���������|strong=”2717 a” x-morph=”OSHM:HVPp3cp”
x-cantillationLevel=”1” ”strong=”c/631|���/����������/�� x-morph=”OSHM:HC/Vqw3fs/Sp3ms”
x-cantillationLevel=”0.0” ”strong=”b|����/��� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0”� 9 ”strong=”c/d/693|������/��/�� x-morph=”OSHM:HC/Td/Vqrmsa”
x-cantillationLevel=”1.2.1” ”strong=”3427|������� x-morph=”OSHM:HVqrmsa”
”strong=”l|���/�� x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”1.2.0”
”strong=”b/2315|������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.2”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”413|�/������
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.1” ”strong=”6430|��������������
74Q
75c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.



134 CONTENTS

x-morph=”OSHM:HNgmpa” strong=”5921|��/������ a” x-morph=”OSHM:HR/Sp2ms”
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76P
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77p We read punctuation in L differently from BHS.
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x-morph=”OSHM:HR/Vpc” x-cantillationLevel=”0.0” strong=”k/834|�������/���
d” x-morph=”OSHM:HR/Tr” ”strong=”1548|�������� x-morph=”OSHM:HVPp3ms”
x-cantillationLevel=”0”� � 23 strong=”c/5633|��������/�� a” x-morph=”OSHM:HC/Ncmpc”
”strong=”6430|������������� x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1.0.2”
”strong=”622|����������� x-morph=”OSHM:HVNp3cp” x-cantillationLevel=”1.0.1”
80We agree with both BHS 1997 and BHQ on an unexpected reading. ”strong=”l/2076|��������/��
x-morph=”OSHM:HR/Vqc” ”strong=”2077|������ x-morph=”OSHM:HNcmsa”���������|strong=”1419
a” x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.0.0” ”strong=”l/1712|�������/��
x-morph=”OSHM:HR/Np” ”strong=”430|����/������� x-morph=”OSHM:HNcmpc/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”c/l/8057|���������/��/�� x-morph=”OSHM:HC/R/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/559|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.2” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
”strong=”430|����/�������� x-morph=”OSHM:HNcmpc/Sp1cp” x-cantillationLevel=”0.1.0”
”strong=”b/3027|���/�����/��� x-morph=”OSHM:HR/Ncbsc/Sp1cp” x-
cantillationLevel=”0.1” ”strong=”853|���� x-morph=”OSHM:HTo” x-cantillationLevel=”0.0”
”strong=”8123|����������� x-morph=”OSHM:HNp” ”strong=”341|���/���������
x-morph=”OSHM:HVqrmpc/Sp1cp” x-cantillationLevel=”0”� 24 ”strong=”c/7200|���������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”853|���/��� x-morph=”OSHM:HTo/Sp3ms”
x-cantillationLevel=”1.1.0” strong=”d/5971|����/�� a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1” strong=”c/1984|����������/��� b” x-morph=”OSHM:HC/Vpw3mp”

79+ ”strong=”d/631|����������/��������/� x-morph=”OSHM:HTd/Vqsmpa” x-
cantillationLevel=”0”
80U
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x-cantillationLevel=”1.0” ”strong=”853|��� x-morph=”OSHM:HTo”����/��������|strong=”430”
x-morph=”OSHM:HNcmpc/Sp3mp” x-cantillationLevel=”1” strong=”3588|�����
a” x-morph=”OSHM:HC” ”strong=”559|�������� x-morph=”OSHM:HVqp3cp”
x-cantillationLevel=”0.2.1” ”strong=”5414|������ x-morph=”OSHM:HVqp3ms”
”strong=”430|���/�������� x-morph=”OSHM:HNcmpc/Sp1cp” ”strong=”b/3027|����/�����/��
x-morph=”OSHM:HR/Ncbsc/Sp1cp” x-cantillationLevel=”0.2.0” ”strong=”853|���
x-morph=”OSHM:HTo”���/����������|strong=”341” x-morph=”OSHM:HVqrmsc/Sp1cp”
x-cantillationLevel=”0.2” ”strong=”c/853|����/�� x-morph=”OSHM:HC/To”
x-cantillationLevel=”0.1.0” strong=”2717|��������� b” x-morph=”OSHM:HVhrmsc”
”strong=”776|���/������� x-morph=”OSHM:HNcbsc/Sp1cp” x-cantillationLevel=”0.1”
strong=”c/834|�������/�� a” x-morph=”OSHM:HC/Tr” strong=”7235|���������
a” x-morph=”OSHM:HVhp3ms” x-cantillationLevel=”0.0” ”strong=”853|���
x-morph=”OSHM:HTo”���/���������|strong=”2491 a” x-morph=”OSHM:HAampc/Sp1cp”
x-cantillationLevel=”0”� 25 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.2.0” strong=”3588|�� a” x-morph=”OSHM:HC” strong=”2896|���
a” x-morph=”OSHM:HVqp3ms” x-wType=”x-ketiv” 81 strong=”3820|�/������
a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.2” ”strong=”c/559|�����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1” ”strong=”7121|��������
x-morph=”OSHM:HVqv2mp” ”strong=”l/8123|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”1.0” ”strong=”c/7832|��������/�� x-morph=”OSHM:HC/Vpi3ms”���/����|strong=”l”
x-morph=”OSHM:HR/Sp1cp” x-cantillationLevel=”1” ”strong=”c/7121|�����������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”l/8123|�����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0.1.1.0” strong=”m/1004|������/�� b” x-morph=”OSHM:HR/Ncmsc”
”strong=”d/615|������/� x-morph=”OSHM:HTd/Ncmpa” x-wType=”x-ketiv”
82 ”strong=”c/6711|��������/�� x-morph=”OSHM:HC/Vpw3ms” x-cantillationLevel=”0.1.0”
”strong=”l/6440|����/�����/�� x-morph=”OSHM:HR/Ncbpc/Sp3mp” x-
cantillationLevel=”0.1” ”strong=”c/5975|������������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”0.0”
”strong=”996|������ x-morph=”OSHM:HR” ”strong=”d/5982|�����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0”� 26 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8123|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.2.0.0” ”strong=”413|��� x-morph=”OSHM:HR”�������/���|strong=”d/5288”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2388|����������/�� x-morph=”OSHM:HTd/Vhrmsa”
”strong=”b/3027|���/���/��� x-morph=”OSHM:HR/Ncbsc/Sp3ms” x-cantillationLevel=”1.2.0”
”strong=”3240|�/��������� x-morph=”OSHM:HVhv2ms/Sh” ”strong=”853|��/�����
x-morph=”OSHM:HTo/Sp1cs” x-cantillationLevel=”1.2” ”strong=”c/3237|��/����/�
x-morph=”OSHM:HC/Vhv2ms/Sp1cs” x-wType=”x-ketiv” 83 ”strong=”853|���
x-morph=”OSHM:HTo”����������/����|strong=”d/5982” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1” strong=”834|������� a” x-morph=”OSHM:HTr”
strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
strong=”3559|������� a” x-morph=”OSHM:HVNrmsa” strong=”5921|����/�����
81+ �� strong=”k/2896|�����/������ a” x-morph=”OSHM:HR/Vqc”
82+ ”strong=”d/631|����������/��������/� x-morph=”OSHM:HTd/Vqsmpa” x-
cantillationLevel=”0.1.1”
83+”strong=”c/4184|����/��������/����/����/� x-morph=”OSHM:HC/Vhv2ms/Sp1cs”
x-cantillationLevel=”1.1.0”
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a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1” ”strong=”c/8172|����������/��
x-morph=”OSHM:HC/VNi1cs” x-cantillationLevel=”0.0” strong=”5921|����/�����
a” x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”0”� 27 strong=”c/d/1004|�������/��/��
b” x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”1.2.1” ”strong=”4390|������
x-morph=”OSHM:HVqp3ms” ”strong=”d/376|����������/��� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2.0” ”strong=”c/d/802|���������/��/�� x-morph=”OSHM:HC/Td/Ncfpa”
x-cantillationLevel=”1.2” ”strong=”c/8033|�/�������/�� x-morph=”OSHM:HC/D/Sd”
x-cantillationLevel=”1.1” ”strong=”3605|����� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”1.0” strong=”5633|�������� a” x-morph=”OSHM:HNcmpc”
”strong=”6430|������������� x-morph=”OSHM:HNgmpa” x-cantillationLevel=”1”
strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�����/���|strong=”d/1406”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.1” ”strong=”k/7969|����������/���
x-morph=”OSHM:HR/Acmsc” ”strong=”505|��������� x-morph=”OSHM:HAcbpa”
x-cantillationLevel=”0.1.0” ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”c/802|��������/�� x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.1”
”strong=”d/7200|�������/�� x-morph=”OSHM:HTd/Vqrmpa” x-cantillationLevel=”0.0”
”strong=”b/7832|��������/��� x-morph=”OSHM:HR/Vqc” ”strong=”8123|�����������
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 28 ”strong=”c/7121|���������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”8123|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0.0” ”strong=”413|��� x-morph=”OSHM:HR”��������|strong=”3068”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.0” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1” ”strong=”136|�/�������
x-morph=”OSHM:HNcmpc/Sp1cs” ”strong=”3069|�������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.1.0.1” ”strong=”2142|���/������� x-morph=”OSHM:HVqv2ms/Sp1cs”
”strong=”4994|���� x-morph=”OSHM:HTe” ”strong=”c/2388|���/��������/��
x-morph=”OSHM:HC/Vpv2ms/Sp1cs” ”strong=”4994|���� x-morph=”OSHM:HTe”
x-cantillationLevel=”0.1.0.0” ”strong=”389|����� x-morph=”OSHM:HTa”
”strong=”d/6471|�������/�� x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/2088|�����/��
x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0.1.0” ”strong=”d/430|���������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”0.1” ”strong=”c/5358|�����������/��
x-morph=”OSHM:HC/VNi1cs” ”strong=”5359|����� x-morph=”OSHM:HNcmsc”�������|strong=”259”
x-morph=”OSHM:HAcfsa” x-cantillationLevel=”0.0.0” ”strong=”m/8147|��������/��
x-morph=”OSHM:HR/Acfdc” strong=”5869|�/������ a” x-morph=”OSHM:HNcbdc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”m/6430|��������������/�� x-morph=”OSHM:HR/Ngmpa”
x-cantillationLevel=”0”� 29 ”strong=”c/3943|����������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”8123|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.1.1”
”strong=”853|��� x-morph=”OSHM:HTo”��������|strong=”8147” x-morph=”OSHM:HAcmdc”
x-cantillationLevel=”1.1.1.0” � ”strong=”5982|���������� x-morph=”OSHM:HNcmpc”
”strong=”d/8432|��������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” strong=”d/1004|��������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” strong=”3559|�������
a” x-morph=”OSHM:HVNrmsa” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” ”strong=”c/5564|�����������/�� x-morph=”OSHM:HC/VNw3ms”
x-cantillationLevel=”1.0” strong=”5921|����/����� a” x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1” ”strong=”259|������ x-morph=”OSHM:HAcmsa”
”strong=”b/3225|��/������/��� x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-
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cantillationLevel=”0.0” ”strong=”c/259|������/�� x-morph=”OSHM:HC/Acmsa”
”strong=”b/8040|��/��������/��� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”0”� 30 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”8123|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.3.1”
”strong=”4191|�������� x-morph=”OSHM:HVqi3fs” ”strong=”5315|��/�������
x-morph=”OSHM:HNcbsc/Sp1cs” x-cantillationLevel=”1.3.0” strong=”5973|���
a” x-morph=”OSHM:HR”���������������|strong=”6430” x-morph=”OSHM:HNgmpa”
x-cantillationLevel=”1.3” ”strong=”c/5186|�����/�� x-morph=”OSHM:HC/Vqw3ms”
strong=”b/3581|�����/��� b” x-morph=”OSHM:HR/Ncmsa” x-cantillationLevel=”1.2”
”strong=”c/5307|��������/�� x-morph=”OSHM:HC/Vqw3ms” strong=”d/1004|��������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” strong=”5921|���
a” x-morph=”OSHM:HR”����������/���|strong=”d/5633 a” x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.1” strong=”c/5921|���/�� a” x-morph=”OSHM:HC/R”�����|strong=”3605”
x-morph=”OSHM:HNcmsc”����/���|strong=”d/5971 a” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.0” strong=”834|������ a” x-morph=”OSHM:HTr”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1” ”strong=”c/1961|���������/��
x-morph=”OSHM:HC/Vqw3mp” ”strong=”d/4191|��������/�� x-morph=”OSHM:HTd/Vqrmpa”
x-cantillationLevel=”0.2.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”4191|������� x-morph=”OSHM:HVhp3ms” ”strong=”b/4194|��/�����/���
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”0.2” strong=”7227|��������
a” x-morph=”OSHM:HAampa” x-cantillationLevel=”0.1” strong=”m/834|�������/��
c” x-morph=”OSHM:HR/Tr” ”strong=”4191|������� x-morph=”OSHM:HVhp3ms”
x-cantillationLevel=”0.0” strong=”b/2416|�/�������/��� e” x-morph=”OSHM:HR/Ncmpc/Sp3ms”
x-cantillationLevel=”0”� 31 ”strong=”c/3381|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”251|�/������ x-morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”1.2.0.0”
”strong=”c/3605|���/�� x-morph=”OSHM:HC/Ncmsc”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”1|����/����� x-morph=”OSHM:HNcmsc/Sp3ms”
x-cantillationLevel=”1.2.0” ”strong=”c/5375|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”853|���/��� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.2”
”strong=”c/5927|���������/��� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.1.1.0”
� ”strong=”c/6912|������������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3ms” x-cantillationLevel=”1.1.1”
”strong=”996|������ x-morph=”OSHM:HR” ”strong=”6881|��������
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1.0” ”strong=”c/996|�����/��
x-morph=”OSHM:HC/R” ”strong=”847|������������ x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”b/6913|������/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”1.0” ”strong=”4495|�������� x-morph=”OSHM:HNp”
”strong=”1|�/������ x-morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1”
”strong=”c/1931|�����/�� x-morph=”OSHM:HC/Pp3ms” x-cantillationLevel=”0.0.0”
”strong=”8199|������� x-morph=”OSHM:HVqp3ms” ”strong=”853|���
x-morph=”OSHM:HTo”������������|strong=”3478” x-morph=”OSHM:HNp”
x-cantillationLevel=”0.0” ”strong=”6242|���������� x-morph=”OSHM:HAcbpa”
”strong=”8141|������� x-morph=”OSHM:HNcfsa” x-cantillationLevel=”0”�
�17 ”strong=”c/1961|�����/��� x-morph=”OSHM:HC/Vqw3ms”�������|strong=”376”

x-morph=”OSHM:HNcmsa” ”strong=”m/2022|���/��� x-morph=”OSHM:HR/Ncmsc”�����������|strong=”669”



142 CONTENTS

x-morph=”OSHM:HNp” x-cantillationLevel=”0.0” ”strong=”c/8034|��/�����/��
x-morph=”OSHM:HC/Ncmsc/Sp3ms” ”strong=”4319|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0”� 2 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l/517|��/�����/�� x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”1.1.2.1”
”strong=”505|������ x-morph=”OSHM:HAcbsa” ”strong=”c/3967|������/��
x-morph=”OSHM:HC/Acbsa” ”strong=”d/3701|�������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.1.2.0” strong=”834|������� a” x-morph=”OSHM:HTr”
”strong=”3947|�������� x-morph=”OSHM:HVPp3ms”��/����|strong=”l”
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.1.2” strong=”c/859|���/�
b” x-morph=”OSHM:HC/Pp2fs” x-wType=”x-ketiv” 84 ”strong=”422|�������
x-morph=”OSHM:HVqp2fs” x-cantillationLevel=”1.1.1” ”strong=”c/1571|����/��
x-morph=”OSHM:HC/Ta” x-cantillationLevel=”1.1.0” ”strong=”559|����������
x-morph=”OSHM:HVqp2fs” ”strong=”b/241|�/�������/��� x-morph=”OSHM:HR/Ncfdc/Sp1cs”
x-cantillationLevel=”1.1” ”strong=”2009|������� x-morph=”OSHM:HTm”�������/���|strong=”d/3701”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”854|�/������ x-morph=”OSHM:HR/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”3947|�/����������� x-morph=”OSHM:HVqp1cs/Sp3ms” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”517|��/�����
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1” ”strong=”1288|���������
x-morph=”OSHM:HVqsmsa” strong=”1121|�/������ a” x-morph=”OSHM:HNcmsc/Sp1cs”
x-cantillationLevel=”0.0” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� 3 ”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vhw3ms”
x-cantillationLevel=”1.0.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������|strong=”505”
x-morph=”OSHM:HAcbsa”������/���|strong=”c/3967” x-morph=”OSHM:HC/Acbsa”
”strong=”d/3701|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0”
”strong=”l/517|��/�����/�� x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3fs” ”strong=”517|��/�����
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1.1.1” ”strong=”6942|����������
x-morph=”OSHM:HVha” ”strong=”6942|��������������� x-morph=”OSHM:HVhp1cs”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/3701”
x-morph=”OSHM:HTd/Ncmsa” ”strong=”l/3068|������/�� x-morph=”OSHM:HR/Np”
”strong=”m/3027|�/������/�� x-morph=”OSHM:HR/Ncbsc/Sp1cs” x-cantillationLevel=”0.1.1.0”
strong=”l/1121|�/�����/�� a” x-morph=”OSHM:HR/Ncmsc/Sp1cs” x-cantillationLevel=”0.1.1”
strong=”l/6213|��������/��� a” x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1.0”
”strong=”6459|������� x-morph=”OSHM:HNcmsa” strong=”c/4541|���������/��
a” x-morph=”OSHM:HC/Ncfsa” x-cantillationLevel=”0.1” ”strong=”c/6258|�������/��
x-morph=”OSHM:HC/D” x-cantillationLevel=”0.0” ”strong=”7725|����/���������
x-morph=”OSHM:HVhi1cs/Sp3ms” ”strong=”l|��/��� x-morph=”OSHM:HR/Sp2fs”
x-cantillationLevel=”0”� 4 ”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vhw3ms”
”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/3701”
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x-cantillationLevel=”1.0” ”strong=”c/6776|������/�� x-morph=”OSHM:HC/Ncmsc”
”strong=”2543|��������� x-morph=”OSHM:HNcbpa” x-cantillationLevel=”1”
”strong=”c/935|����/���������/�� x-morph=”OSHM:HC/Vhw3fs/Sp3ms”
x-cantillationLevel=”0.2.0” strong=”1004|������ b” x-morph=”OSHM:HNcmsc”
”strong=”1|��/������ x-morph=”OSHM:HNcmsc/Sp3fs” x-cantillationLevel=”0.2”
”strong=”c/7200|����/��������/�� x-morph=”OSHM:HC/Vqw3ms/Sp3ms”
x-cantillationLevel=”0.1.0” ”strong=”1|������ x-morph=”OSHM:HNcmsc”
”strong=”d/5291|���������/��� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1”
”strong=”c/8055|����������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0”
”strong=”l/7125|��/�������/�� x-morph=”OSHM:HR/Vqc/Sp3ms” x-cantillationLevel=”0”�
4 ”strong=”c/2388|��������/�� x-morph=”OSHM:HC/Vqw3ms”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3ms” strong=”2859|���/������ a” x-morph=”OSHM:HVqrmsc/Sp3ms”
x-cantillationLevel=”1.1.0” ”strong=”1|������ x-morph=”OSHM:HNcmsc”
”strong=”d/5291|���������/��� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1”
”strong=”c/3427|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”854|��/�����
x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.0” ”strong=”7969|����������
x-morph=”OSHM:HAcmsc” ”strong=”3117|������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”c/398|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.1.0” ”strong=”c/8354|�����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.1” strong=”c/3885|����������/�� a” x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.0” ”strong=”8033|����� x-morph=”OSHM:HD” x-
cantillationLevel=”0”� 5 ”strong=”c/1961|������/��� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.0” ”strong=”b/3117|������/��� x-morph=”OSHM:HRd/Ncmsa”
”strong=”d/7243|���������/�� x-morph=”OSHM:HTd/Aomsa” x-cantillationLevel=”1.1”
”strong=”c/7925|��������������/�� x-morph=”OSHM:HC/Vhw3mp”
”strong=”b/1242|�������/�� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.0”
strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”l/3212|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”1|������ x-morph=”OSHM:HNcmsc”
”strong=”d/5291|���������/��� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.0.1.0”
”strong=”413|��� x-morph=”OSHM:HR”��/�������|strong=”2860” x-
morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”0.0.1” ”strong=”5582|������
x-morph=”OSHM:HVqv2ms” strong=”3820|���/����� a” x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0.0.0” strong=”6595|���� a” x-morph=”OSHM:HNcfsc”�������|strong=”3899”
x-morph=”OSHM:HNcbsa” x-cantillationLevel=”0.0” strong=”c/310|������/��
a” x-morph=”OSHM:HC/D” ”strong=”3212|��������� x-morph=”OSHM:HVqi2mp”
x-cantillationLevel=”0”� 6 ”strong=”c/3427|����������/�� x-morph=”OSHM:HC/Vqw3mp”

86+ ”strong=”l/7725|��/���������/���/����/� x-morph=”OSHM:HR/Vhc/Sp3fs” x-
cantillationLevel=”1.1”



CONTENTS 157

x-cantillationLevel=”1.0.1” ”strong=”c/398|����������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”8147|����/������ x-morph=”OSHM:HAcmdc/Sp3mp” x-cantillationLevel=”1.0.0”
strong=”3162|��������� b” x-morph=”OSHM:HD” x-cantillationLevel=”1.0”
”strong=”c/8354|�����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.1.0.0”
”strong=”1|������ x-morph=”OSHM:HNcmsc” ”strong=”d/5291|���������/���
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1.0” ”strong=”413|���
x-morph=”OSHM:HR”������/���|strong=”d/376” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”2974|������� x-morph=”OSHM:HVhv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” strong=”c/3885|�����/�� a” x-morph=”OSHM:HC/Vqv2ms”
x-cantillationLevel=”0.0” ”strong=”c/3190|������/�� x-morph=”OSHM:HC/Vqi3ms”
strong=”3820|��/������ a” x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0”�
7 strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/376|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.0” ”strong=”l/3212|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1” ”strong=”c/6484|��������/��
x-morph=”OSHM:HC/Vqw3ms”���/���|strong=”b” x-morph=”OSHM:HR/Sp3ms”
x-cantillationLevel=”0.1.0” strong=”2859|��/������ a” x-morph=”OSHM:HVqrmsc/Sp3ms”
x-cantillationLevel=”0.1” ”strong=”c/7725|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.0” strong=”c/3885|�������/�� a” x-morph=”OSHM:HC/Vqw3ms”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”0”� 8
”strong=”c/7925|�����������/�� x-morph=”OSHM:HC/Vhw3ms” ”strong=”b/1242|�������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.2.0.0” ”strong=”b/3117|������/���
x-morph=”OSHM:HRd/Ncmsa” ”strong=”d/2549|����������/�� x-morph=”OSHM:HTd/Aomsa”
x-cantillationLevel=”1.2.0” ”strong=”l/3212|������/�� x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”1.1.1.0” � ”strong=”1|������ x-morph=”OSHM:HNcmsc”
”strong=”d/5291|���������/��� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.1”
”strong=”5582|����� x-morph=”OSHM:HVqv2ms”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”1.1.0” ”strong=”3824|���/�������
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.1” ”strong=”c/4102|���������������/��
x-morph=”OSHM:HC/Vtv2mp” x-cantillationLevel=”1.0” ”strong=”5704|���
x-morph=”OSHM:HR”��������|strong=”5186” x-morph=”OSHM:HVqc”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1”
”strong=”c/398|����������/�� x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0”
”strong=”8147|����/������ x-morph=”OSHM:HAcmdc/Sp3mp” x-cantillationLevel=”0”�
9 strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/376|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”l/3212|������/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.1” ”strong=”1931|�����
x-morph=”OSHM:HPp3ms” ”strong=”c/6370|��/����������/�� x-morph=”OSHM:HC/Ncfsc/Sp3ms”
x-cantillationLevel=”1.0” ”strong=”c/5288|��/������/�� x-morph=”OSHM:HC/Ncmsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” strong=”2859|��/������
a” x-morph=”OSHM:HVqrmsc/Sp3ms” ”strong=”1|������ x-morph=”OSHM:HNcmsc”
”strong=”d/5291|���������/��� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.2.2.1”
”strong=”2009|������� x-morph=”OSHM:HTm” ”strong=”4994|���� x-
morph=”OSHM:HTe” ”strong=”7503|������ x-morph=”OSHM:HVqp3ms”
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”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.2.0”
”strong=”l/6150|������/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.2.2”
strong=”3885|������� a” x-morph=”OSHM:HVqv2mp”�����|strong=”4994”
x-morph=”OSHM:HTe” x-cantillationLevel=”0.2.1.0” ”strong=”2009|�������
x-morph=”OSHM:HTm” ”strong=”2583|������� x-morph=”OSHM:HVqc”
”strong=”d/3117|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.2.1”
strong=”3885|����� a” x-morph=”OSHM:HVqv2ms” ”strong=”6311|�����
x-morph=”OSHM:HD” x-cantillationLevel=”0.2.0” ”strong=”c/3190|�������/��
x-morph=”OSHM:HC/Vqi3ms” ”strong=”3824|��/������� x-morph=”OSHM:HNcmsc/Sp2ms”
x-cantillationLevel=”0.2” ”strong=”c/7925|���������������/�� x-morph=”OSHM:HC/Vhq2mp”
”strong=”4279|������ x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1.0”
”strong=”l/1870|����/�������/�� x-morph=”OSHM:HR/Ncbsc/Sp2mp”
x-cantillationLevel=”0.1” ”strong=”c/1980|����������/�� x-morph=”OSHM:HC/Vqq2ms”
x-cantillationLevel=”0.0” ”strong=”l/168|��/�������/�� x-morph=”OSHM:HR/Ncmsc/Sp2ms”
x-cantillationLevel=”0”� 10 ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”�������|strong=”14”
x-morph=”OSHM:HVqp3ms” ”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.0” strong=”l/3885|�����/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”1.2” strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.1”
”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0”
”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”5227” x-morph=”OSHM:HR”
”strong=”2982|������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.1”
”strong=”1931|����� x-morph=”OSHM:HPp3fs” x-cantillationLevel=”1.0”
”strong=”3389|������������� x-morph=”OSHM:HNp” x-cantillationLevel=”1”
strong=”c/5973|��/�����/�� a” x-morph=”OSHM:HC/R/Sp3ms” x-cantillationLevel=”0.1.1”
”strong=”6776|������ x-morph=”OSHM:HNcmsc” ”strong=”2543|����������
x-morph=”OSHM:HNcbpa” x-cantillationLevel=”0.1.0” ”strong=”2280|�����������
x-morph=”OSHM:HVqsmpa” x-cantillationLevel=”0.1” ”strong=”c/6370|��/����������/��
x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-cantillationLevel=”0.0” strong=”5973|��/�����
a” x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”0”� 11 ”strong=”1992|����
x-morph=”OSHM:HPp3mp” strong=”5973|��� a” x-morph=”OSHM:HR”��������|strong=”2982”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.1” ”strong=”c/d/3117|������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”1.0” ”strong=”7286|����
x-morph=”OSHM:HVqp3ms” ”strong=”3966|������ x-morph=”OSHM:HD”
x-cantillationLevel=”1” ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/5288|�������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.2.0”
”strong=”413|��� x-morph=”OSHM:HR”�/���������|strong=”113” x-
morph=”OSHM:HNcmpc/Sp3ms” x-cantillationLevel=”0.0.2” ”strong=”3212|�/����
x-morph=”OSHM:HVqv2ms/Sh”������|strong=”4994” x-morph=”OSHM:HTj”
x-cantillationLevel=”0.0.1” ”strong=”c/5493|���������/�� x-morph=”OSHM:HC/Vqh1cp”
x-cantillationLevel=”0.0.0” ”strong=”413|��� x-morph=”OSHM:HR”������|strong=”5892
b” x-morph=”OSHM:HNcfsc”���������/���|strong=”d/2983” x-morph=”OSHM:HTd/Ngmsa”
”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs” x-cantillationLevel=”0.0”
strong=”c/3885|�������/�� a” x-morph=”OSHM:HC/Vqi1cp” ”strong=”b|��/����
x-morph=”OSHM:HR/Sp3fs” x-cantillationLevel=”0”� 12 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|��/����� x-morph=”OSHM:HR/Sp3ms”
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x-cantillationLevel=”1.2.0” ”strong=”113|�/�������� x-morph=”OSHM:HNcmpc/Sp3ms”
x-cantillationLevel=”1.2” ”strong=”3808|���� x-morph=”OSHM:HTn” ”strong=”5493|�������
x-morph=”OSHM:HVqi1cp” x-cantillationLevel=”1.1.0” ”strong=”413|���
x-morph=”OSHM:HR”������|strong=”5892 b” x-morph=”OSHM:HNcfsa”
”strong=”5237|�������� x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.1”
strong=”834|������� a” x-morph=”OSHM:HTr” x-cantillationLevel=”1.0.0”
”strong=”3808|���� x-morph=”OSHM:HTn”�������/���|strong=”m/1121
a” x-morph=”OSHM:HR/Ncmpc” ”strong=”3478|����������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.0” ”strong=”2008|������� x-morph=”OSHM:HPp3fp”
x-cantillationLevel=”1” strong=”c/5674|����������/�� a” x-morph=”OSHM:HC/Vqq1cp”
x-cantillationLevel=”0.0” ”strong=”5704|��� x-morph=”OSHM:HR”����������|strong=”1390”
x-morph=”OSHM:HNp” x-cantillationLevel=”0”� 13 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”l/5288|��/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms”
x-cantillationLevel=”1.1” ”strong=”3212|����� x-morph=”OSHM:HVqv2ms”
87 Marks a place where we agree with BHQ against BHS in reading L. 88
”strong=”c/7126|����������/�� x-morph=”OSHM:HC/Vqh1cp” x-cantillationLevel=”1.0”
”strong=”b/259|������/��� x-morph=”OSHM:HR/Acmsc” ”strong=”d/4725|����������/��
x-morph=”OSHM:HTd/Ncmpa” x-cantillationLevel=”1” strong=”c/3885|�������/��
a” x-morph=”OSHM:HC/Vqq1cp” ”strong=”b/1390|���������/�� x-morph=”OSHM:HRd/Np”
x-cantillationLevel=”0.0” strong=”176|���� a” x-morph=”OSHM:HC” ”strong=”b/7414|������/��
x-morph=”OSHM:HRd/Np” x-cantillationLevel=”0”� 14 strong=”c/5674|�����������/��
a” x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1.0” ”strong=”c/3212|���������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”1” ”strong=”c/935|�������/��
x-morph=”OSHM:HC/Vqw3fs” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”0.1.0” ”strong=”d/8121|���������/�� x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.1” ”strong=”681|������ x-morph=”OSHM:HR” ”strong=”d/1390|���������/��
x-morph=”OSHM:HTd/Np” x-cantillationLevel=”0.0” strong=”834|�������
a” x-morph=”OSHM:HTr” ”strong=”l/1144|����������/�� x-morph=”OSHM:HR/Np”
x-cantillationLevel=”0”� 15 ”strong=”c/5493|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”8033|����� x-morph=”OSHM:HD” x-cantillationLevel=”1.1” ”strong=”l/935|�����/��
x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”1.0” strong=”l/3885|�����/��
a” x-morph=”OSHM:HR/Vqc” ”strong=”b/1390|���������/��� x-morph=”OSHM:HRd/Np”
x-cantillationLevel=”1” ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.1” ”strong=”c/3427|���������/�� x-morph=”OSHM:HC/Vqw3ms”
x-cantillationLevel=”0.1.0” ”strong=”b/7339|�������/��� x-morph=”OSHM:HR/Ncfsc”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”0.1”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.0.0” ”strong=”622|���������
x-morph=”OSHM:HVprmsa”�/�������|strong=”853” x-morph=”OSHM:HTo/Sp3mp”
strong=”d/1004|�/��������/�� b” x-morph=”OSHM:HTd/Ncmsa/Sd” x-
cantillationLevel=”0.0” strong=”l/3885|�����/�� a” x-morph=”OSHM:HR/Vqc”
x-cantillationLevel=”0”� 16 ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”

87Q
88q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
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x-cantillationLevel=”1.2.1.0” � ”strong=”376|������ x-morph=”OSHM:HNcmsa”
”strong=”2205|������ x-morph=”OSHM:HAamsa” x-cantillationLevel=”1.2.1”
”strong=”935|����� x-morph=”OSHM:HVqrmsa” strong=”4480|���� a”
x-morph=”OSHM:HR”���/���������|strong=”4639” x-morph=”OSHM:HNcmsc/Sp3ms”
strong=”4480|��� a” x-morph=”OSHM:HR”��������/���|strong=”d/7704
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2.0” ”strong=”b/6153|������/���
x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.2” ”strong=”c/d/376|������/��/��
x-morph=”OSHM:HC/Td/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”m/2022|����/��
x-morph=”OSHM:HR/Ncmsc” ”strong=”669|���������� x-morph=”OSHM:HNp”
x-cantillationLevel=”1.1” ”strong=”c/1931|����/�� x-morph=”OSHM:HC/Pp3ms”�����|strong=”1481
a” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1.0” ”strong=”b/1390|���������/���
x-morph=”OSHM:HRd/Np” x-cantillationLevel=”1” ”strong=”c/376|���������/��
x-morph=”OSHM:HC/Ncmpc” ”strong=”d/4725|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.0” ”+strong=”1145|������� x-morph=”OSHM:HNcmpc”
”strong=”1145|��������� x-morph=”OSHM:HNgmsa” x-cantillationLevel=”0”�
17 ”strong=”c/5375|���������/�� x-morph=”OSHM:HC/Vqw3ms” strong=”5869|�/�������
a” x-morph=”OSHM:HNcbdc/Sp3ms” x-cantillationLevel=”1.0.1” ”strong=”c/7200|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0.0” ”strong=”853|���
x-morph=”OSHM:HTo”������/���|strong=”d/376” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/732|�������/�� x-morph=”OSHM:HTd/Vqrmsa” x-cantillationLevel=”1.0”
”strong=”b/7339|������/��� x-morph=”OSHM:HR/Ncfsc” strong=”d/5892|�����/��
b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1” ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa”
89 Marks a place where we agree with BHQ against BHS in reading L. 90
”strong=”d/2205|�������/�� x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.0.0”
”strong=”575|������ x-morph=”OSHM:HD” ”strong=”3212|������� x-
morph=”OSHM:HVqi2ms” x-cantillationLevel=”0.0” ”strong=”c/m/370|������/��/��
x-morph=”OSHM:HC/R/Ti” ”strong=”935|�������� x-morph=”OSHM:HVqi2ms”
x-cantillationLevel=”0”� 18 ”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|�/������ x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.3.1”
strong=”5674|��������� a” x-morph=”OSHM:HVqrmpa” ”strong=”587|����������
x-morph=”OSHM:HPp1cp” x-cantillationLevel=”1.3.0.0” ”+strong=”m/1035|������/��
x-morph=”OSHM:HR/Np”�������|strong=”1035” x-morph=”OSHM:HNp”
”strong=”3063|��������� x-morph=”OSHM:HNp” x-cantillationLevel=”1.3.0”
”strong=”5704|��� x-morph=”OSHM:HR”������������|strong=”3411”
x-morph=”OSHM:HNcfdc” ”strong=”2022|��� x-morph=”OSHM:HNcmsc”�����������|strong=”669”
x-morph=”OSHM:HNp” x-cantillationLevel=”1.3” ”strong=”m/8033|������/��
x-morph=”OSHM:HR/D” ”strong=”595|�������� x-morph=”OSHM:HPp1cs”
x-cantillationLevel=”1.2” ”strong=”c/3212|�������/�� x-morph=”OSHM:HC/Vqw1cs”
x-cantillationLevel=”1.1” ”strong=”5704|��� x-morph=”OSHM:HR”�������|strong=”1035+”
x-morph=”OSHM:HNp” ”strong=”1035|������ x-morph=”OSHM:HNp” x-
cantillationLevel=”1.0” ”strong=”3063|��������� x-morph=”OSHM:HNp”

89Q
90c We read one or more accents in L differently than BHS. Often this notation indicates a typo-
graphical error in BHS.
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x-cantillationLevel=”1” ”strong=”c/853|���/�� x-morph=”OSHM:HC/To”�������|strong=”1004
b” x-morph=”OSHM:HNcmsc” ”strong=”3068|������� x-morph=”OSHM:HNp”
x-cantillationLevel=”0.2.0” ”strong=”589|������ x-morph=”OSHM:HPp1cs”
”strong=”1980|������� x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”0.2”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” ”strong=”376|������
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0.1” ”strong=”622|���������
x-morph=”OSHM:HVprmsa” ”strong=”853|�/������ x-morph=”OSHM:HTo/Sp1cs”
x-cantillationLevel=”0.0” strong=”d/1004|�/��������/�� b” x-morph=”OSHM:HTd/Ncmsa/Sd”
x-cantillationLevel=”0”� 19 ”strong=”c/1571|���/�� x-morph=”OSHM:HC/Ta”��������|strong=”8401”
x-morph=”OSHM:HNcmsa” ”strong=”1571|���� x-morph=”OSHM:HTa”�����������|strong=”4554”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”1.2.0” ”strong=”3426|�����
x-morph=”OSHM:HTm” ”strong=”l/2543|���/���������/�� x-morph=”OSHM:HR/Ncbpc/Sp1cp”
x-cantillationLevel=”1.2” ”strong=”c/1571|���/��� x-morph=”OSHM:HC/Ta”
x-cantillationLevel=”1.1.0.0” ”strong=”3899|������ x-morph=”OSHM:HNcbsa”
”strong=”c/3196|������/�� x-morph=”OSHM:HC/Ncmsa” ”strong=”3426|����
x-morph=”OSHM:HTm”��/���|strong=”l” x-morph=”OSHM:HR/Sp1cs” x-
cantillationLevel=”1.1.0” ”strong=”c/l/519|��/�������/���/�� x-morph=”OSHM:HC/R/Ncfsc/Sp2ms”
x-cantillationLevel=”1.1” ”strong=”c/l/5288|�������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa”
x-cantillationLevel=”1.0” strong=”5973|��� a” x-morph=”OSHM:HR”��/���������|strong=”5650”
x-morph=”OSHM:HNcmpc/Sp2ms” x-cantillationLevel=”1” ”strong=”369|�����
x-morph=”OSHM:HTn” ”strong=”4270|��������� x-morph=”OSHM:HNcmsc”
x-cantillationLevel=”0.0” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”��������|strong=”1697”
x-morph=”OSHM:HNcmsa” x-cantillationLevel=”0”� 20 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2205|�������/�� x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”1.1.0”
”strong=”7965|�������� x-morph=”OSHM:HNcmsa” ”strong=”l|��/���
x-morph=”OSHM:HR/Sp2fs” x-cantillationLevel=”1.1” ”strong=”7535|����
x-morph=”OSHM:HTa” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”���/����������|strong=”4270”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”1.0” strong=”5921|�/�����
a” x-morph=”OSHM:HR/Sp1cs” x-cantillationLevel=”1” ”strong=”7535|����
x-morph=”OSHM:HTa” ”strong=”b/7339|�������/��� x-morph=”OSHM:HRd/Ncfsa”
x-cantillationLevel=”0.0” ”strong=”408|��� x-morph=”OSHM:HTn”��������|strong=”3885
a” x-morph=”OSHM:HVqj2ms” x-cantillationLevel=”0”� 21 ”strong=”c/935|���/��������/��
x-morph=”OSHM:HC/Vhw3ms/Sp3ms” strong=”l/1004|��/�����/�� b”
x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-cantillationLevel=”1.1” strong=”c/1101|��������/��
b” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0” 91Marks a place
where we agree with BHQ against BHS in reading L. 92 93 ”strong=”l/2543|����������/��
x-morph=”OSHM:HRd/Ncbpa” x-cantillationLevel=”1” ”strong=”c/7364|�����������/���
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.1.0” ”strong=”7272|����/�������
x-morph=”OSHM:HNcfdc/Sp3mp” x-cantillationLevel=”0.1” ”strong=”c/398|����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0.0” ”strong=”c/8354|�����������/��
x-morph=”OSHM:HC/Vqw3mp” x-cantillationLevel=”0”� 22 ”strong=”1992|�������
91Q
92n Marks an anomalous form.
93q We have abandoned or added a ketib/qere relative to BHS. In doing this we agree with L
against BHS.
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x-morph=”OSHM:HPp3mp” x-cantillationLevel=”1.2.0” ”strong=”3190|�����������
x-morph=”OSHM:HVhrmpa” ”strong=”853|��� x-morph=”OSHM:HTo”��/������|strong=”3820
a” x-morph=”OSHM:HNcmsc/Sp3mp” x-cantillationLevel=”1.2” ”strong=”c/2009|�������/��
x-morph=”OSHM:HC/Tm” ”strong=”376|��������� x-morph=”OSHM:HNcmpc”
strong=”d/5892|�����/�� b” x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.1.1.0”
”strong=”376|��������� x-morph=”OSHM:HNcmpc” strong=”1121|������
a” x-morph=”OSHM:HNcmpc”������������|strong=”1100” x-morph=”OSHM:HNcmsa”
x-cantillationLevel=”1.1.1” ”strong=”5437|���������� x-morph=”OSHM:HVNp3cp”
x-cantillationLevel=”1.1.0” ”strong=”853|��� x-morph=”OSHM:HTo”�������/���|strong=”d/1004
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”1849|����������������
x-morph=”OSHM:HVtrmpa” x-cantillationLevel=”1.0” strong=”5921|��� a”
x-morph=”OSHM:HR”�������/���|strong=”d/1817 c” x-morph=”OSHM:HTd/Ncfsa”
x-cantillationLevel=”1” ”strong=”c/559|����������/�� x-morph=”OSHM:HC/Vqw3mp”
x-cantillationLevel=”0.1.1” ”strong=”413|��� x-morph=”OSHM:HR”�����/����|strong=”d/376”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0.0” ”strong=”1167|�������
x-morph=”OSHM:HNcmsc” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
”strong=”d/2205|�������/�� x-morph=”OSHM:HTd/Aamsa” x-cantillationLevel=”0.1.0”
”strong=”l/559|�����/�� x-morph=”OSHM:HR/Vqc” x-cantillationLevel=”0.1”
”strong=”3318|������� x-morph=”OSHM:HVhv2ms” x-cantillationLevel=”0.0.1”
”strong=”853|��� x-morph=”OSHM:HTo”������/���|strong=”d/376” x-
morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”������|strong=”935” x-morph=”OSHM:HVqp3ms”
”strong=”413|��� x-morph=”OSHM:HR”���/�������|strong=”1004 b”
x-morph=”OSHM:HNcmsc/Sp2ms” x-cantillationLevel=”0.0” ”strong=”c/3045|����/�������/��
x-morph=”OSHM:HC/Vqi1cp/Sp3ms” x-cantillationLevel=”0”� 23 ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|����/����� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.2.1” ”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1.2.0” ”strong=”1167|������� x-morph=”OSHM:HNcmsc”
strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.2”
”strong=”c/559|��������/�� x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|����/����
x-morph=”OSHM:HR/Sp3mp” x-cantillationLevel=”1.1” ”strong=”408|���
x-morph=”OSHM:HTn”�/������|strong=”251” x-morph=”OSHM:HNcmpc/Sp1cs”
x-cantillationLevel=”1.0” ”strong=”408|��� x-morph=”OSHM:HTn”����������|strong=”7489
a” x-morph=”OSHM:HVhj2mp” ”strong=”4994|���� x-morph=”OSHM:HTe”
x-cantillationLevel=”1” strong=”310|�������� a” x-morph=”OSHM:HR”
x-cantillationLevel=”0.1.0.1” strong=”834|������ a” x-morph=”OSHM:HTr”������|strong=”935”
x-morph=”OSHM:HVqp3ms” x-cantillationLevel=”0.1.0.0” ”strong=”d/376|������/��
x-morph=”OSHM:HTd/Ncmsa” ”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms”
x-cantillationLevel=”0.1.0” ”strong=”413|��� x-morph=”OSHM:HTn”�/��������|strong=”1004
b” x-morph=”OSHM:HNcmsc/Sp1cs” x-cantillationLevel=”0.1” 94 We agree
with both BHS 1997 and BHQ on an unexpected reading. ”strong=”408|����
x-morph=”OSHM:HTn”�����������|strong=”6213 a” x-morph=”OSHM:HVqj2mp”
x-cantillationLevel=”0.0” ”strong=”853|��� x-morph=”OSHM:HTo”���������/���|strong=”d/5039”
x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs”
94U
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x-cantillationLevel=”0”� 24 ”strong=”2009|������� x-morph=”OSHM:HTm”
”strong=”1323|�/������ x-morph=”OSHM:HNcfsc/Sp1cs” ”strong=”d/1330|����������/��
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2.1.0” ”strong=”c/6370|���/������������/��
x-morph=”OSHM:HC/Ncfsc/Sp3ms” x-cantillationLevel=”1.2.1” ”strong=”3318|����������
x-morph=”OSHM:HVhh1cs”������|strong=”4994” x-morph=”OSHM:HTj”
”strong=”853|��/����� x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1.2.0”
strong=”c/6031|�������/�� b” x-morph=”OSHM:HC/Vpv2mp” ”strong=”853|�/������
x-morph=”OSHM:HTo/Sp3mp” x-cantillationLevel=”1.2” strong=”c/6213|�������/��
a” x-morph=”OSHM:HC/Vqv2mp” ”strong=”l|����/�� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.1” strong=”d/2896|������/�� a” x-morph=”OSHM:HTd/Aamsa”
x-cantillationLevel=”1.0” strong=”b/5869|����/������/��� a” x-morph=”OSHM:HR/Ncbdc/Sp2mp”
x-cantillationLevel=”1” ”strong=”c/l/376|������/��/�� x-morph=”OSHM:HC/Rd/Ncmsa”
”strong=”d/2088|�����/�� x-morph=”OSHM:HTd/Pdxms” x-cantillationLevel=”0.1.0”
”strong=”3808|���� x-morph=”OSHM:HTn” strong=”6213|���������
a” x-morph=”OSHM:HVqi2mp” x-cantillationLevel=”0.1” ”strong=”1697|�������
x-morph=”OSHM:HNcmsc” x-cantillationLevel=”0.0” ”strong=”d/5039|���������/��
x-morph=”OSHM:HTd/Ncfsa” ”strong=”d/2063|������/�� x-morph=”OSHM:HTd/Pdxfs”
x-cantillationLevel=”0”� 25 ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”�������|strong=”14”
x-morph=”OSHM:HVqp3cp” ”strong=”d/376|����������/�� x-morph=”OSHM:HTd/Ncmpa”
x-cantillationLevel=”1.2.0” ”strong=”l/8085|���������/�� x-morph=”OSHM:HR/Vqc”
”strong=”l|��/�� x-morph=”OSHM:HR/Sp3ms” x-cantillationLevel=”1.2”
”strong=”c/2388|���������/�� x-morph=”OSHM:HC/Vhw3ms” ”strong=”d/376|������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1.0” ”strong=”b/6370|��/�����������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”1.1” ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”413|����/����� x-morph=”OSHM:HR/Sp3mp”
x-cantillationLevel=”1.0” ”strong=”d/2351|�����/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”1” ”strong=”c/3045|���������/�� x-morph=”OSHM:HC/Vqw3mp”
”strong=”853|��/������ x-morph=”OSHM:HTo/Sp3fs” x-cantillationLevel=”0.1.0.0”
strong=”c/5953|��������������/�� a” x-morph=”OSHM:HC/Vtw3mp”��/����|strong=”b”
x-morph=”OSHM:HR/Sp3fs” ”strong=”3605|���� x-morph=”OSHM:HNcmsc”����������/���|strong=”d/3915”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1.0” ”strong=”5704|���
x-morph=”OSHM:HR”�������/���|strong=”d/1242” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/7971|��/������������/��� x-morph=”OSHM:HC/Vpw3mp/Sp3fs”
x-cantillationLevel=”0.0” ”strong=”b/5927|����/� x-morph=”OSHM:HR/Vqc”
x-wType=”x-ketiv” 95 ”strong=”d/7837|��������/�� x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0”� 26 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3fs”
”strong=”d/802|��������/�� x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.0”
”strong=”l/6437|�������/�� x-morph=”OSHM:HR/Vqc” ”strong=”d/1242|�������/��
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1” ”strong=”c/5307|��������/��
x-morph=”OSHM:HC/Vqw3fs” x-cantillationLevel=”0.0.0.0” ”strong=”6607|�������
x-morph=”OSHM:HNcmsc” strong=”1004|����� b” x-morph=”OSHM:HNcmsc”������/���|strong=”d/376”
x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.0.0” strong=”834|������
a” x-morph=”OSHM:HTr”��/����������|strong=”113” x-morph=”OSHM:HNcmpc/Sp3fs”
”strong=”8033|������ x-morph=”OSHM:HD” x-cantillationLevel=”0.0” ”strong=”5704|���
95+ ”strong=”k/5927|�������/�������/� x-morph=”OSHM:HR/Vqc”
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x-morph=”OSHM:HR”�����/���|strong=”d/216” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0”� 27 strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”113|��/�������� x-morph=”OSHM:HNcmpc/Sp3fs” x-cantillationLevel=”1.1.1.0”
”strong=”b/1242|�������/��� x-morph=”OSHM:HRd/Ncmsa” x-cantillationLevel=”1.1.1”
strong=”c/6605|����������/�� a” x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.1.0”
strong=”1817|���������� c” x-morph=”OSHM:HNcfpc” strong=”d/1004|�������/��
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”1.1” ”strong=”c/3318|�������/��
x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”1.0” ”strong=”l/3212|������/��
x-morph=”OSHM:HR/Vqc” ”strong=”l/1870|��/�������/�� x-morph=”OSHM:HR/Ncbsc/Sp3ms”
x-cantillationLevel=”1” ”strong=”c/2009|�������/�� x-morph=”OSHM:HC/Tm”
”strong=”d/802|��������/�� x-morph=”OSHM:HTd/Ncfsa” ”strong=”6370|��/�����������
x-morph=”OSHM:HNcfsc/Sp3ms” x-cantillationLevel=”0.1.1” ”strong=”5307|���������
x-morph=”OSHM:HVqrfsa” x-cantillationLevel=”0.1.0” ”strong=”6607|�������
x-morph=”OSHM:HNcmsc” strong=”d/1004|�������/�� b” x-morph=”OSHM:HTd/Ncmsa”
x-cantillationLevel=”0.1” ”strong=”c/3027|��/������/�� x-morph=”OSHM:HC/Ncbdc/Sp3fs”
x-cantillationLevel=”0.0” strong=”5921|��� a” x-morph=”OSHM:HR”�����/���|strong=”d/5592
b” x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0”� 28 ”strong=”c/559|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”413|��/������ x-morph=”OSHM:HR/Sp3fs”
x-cantillationLevel=”1.0.0” strong=”6965|������� b” x-morph=”OSHM:HVqv2fs”
”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqh1cp” x-cantillationLevel=”1.0”
”strong=”c/369|�����/�� x-morph=”OSHM:HC/Tn” strong=”6030|������
b” x-morph=”OSHM:HVqrmsa” x-cantillationLevel=”1” ”strong=”c/3947|���/���������/��
x-morph=”OSHM:HC/Vqw3ms/Sp3fs” x-cantillationLevel=”0.2.0” strong=”5921|����
a” x-morph=”OSHM:HR”�������/���|strong=”d/2543” x-morph=”OSHM:HTd/Ncbsa”
x-cantillationLevel=”0.2” strong=”c/6965|�������/�� b” x-morph=”OSHM:HC/Vqw3ms”
”strong=”d/376|������/�� x-morph=”OSHM:HTd/Ncmsa” x-cantillationLevel=”0.1”
”strong=”c/3212|��������/�� x-morph=”OSHM:HC/Vqw3ms” x-cantillationLevel=”0.0”
”strong=”l/4725|��/������/�� x-morph=”OSHM:HR/Ncmsc/Sp3ms” x-
cantillationLevel=”0”� 29 ”strong=”c/935|�������/�� x-morph=”OSHM:HC/Vqw3ms”
”strong=”413|��� x-morph=”OSHM:HR”��/�������|strong=”1004 b” x-
morph=”OSHM:HNcmsc/Sp3ms” x-cantillationLevel=”1.2.1” ”strong=”c/3947|��������/��
x-morph=”OSHM:HC/Vqw3ms” ”strong=”853|��� x-morph=”OSHM:HTo”������������/����|strong=”d/3979”
x-morph=”OSHM:HTd/Ncfsa” x-cantillationLevel=”1.2.0” ”strong=”c/2388|���������/��
x-morph=”OSHM:HC/Vhw3ms” ”strong=”b/6370|��/�����������/���
x-morph=”OSHM:HR/Ncfsc/Sp3ms” x-cantillationLevel=”1.2” ”strong=”c/5408|���/����������/���
x-morph=”OSHM:HC/Vpw3ms/Sp3fs” x-cantillationLevel=”1.1.0” ”strong=”l/6106|��/��������/��
x-morph=”OSHM:HR/Ncfpc/Sp3fs” x-cantillationLevel=”1.1” ”strong=”l/8147|��������/��
x-morph=”OSHM:HR/Acmda” ”strong=”6240|������� x-morph=”OSHM:HAcmsa”
x-cantillationLevel=”1.0” ”strong=”5409|��������� x-morph=”OSHM:HNcmpa”
x-cantillationLevel=”1” ”strong=”c/7971|��/�����������/��� x-morph=”OSHM:HC/Vpw3ms/Sp3fs”
x-cantillationLevel=”0.1” ”strong=”b/3605|����/��� x-morph=”OSHM:HR/Ncmsc”
x-cantillationLevel=”0.0” ”strong=”1366|�������� x-morph=”OSHM:HNcmsc”
”strong=”3478|����������� x-morph=”OSHM:HNp” x-cantillationLevel=”0”�
30 ”strong=”c/1961|������/�� x-morph=”OSHM:HC/Vqq3ms” ”strong=”3605|���
x-morph=”OSHM:HNcmsc”������/���|strong=”d/7200” x-morph=”OSHM:HTd/Vqrmsa”
x-cantillationLevel=”1.2.2” ”strong=”c/559|������/�� x-morph=”OSHM:HC/Vqq3ms”
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x-cantillationLevel=”1.2.1” ”strong=”3808|���� x-morph=”OSHM:HTn”�����������|strong=”1961”
x-morph=”OSHM:HVNp3fs” ”strong=”c/3808|����/�� x-morph=”OSHM:HC/Tn”�����������|strong=”7200”
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